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�+�.���-$"	��	�+�.�	.	���	#�0��$�����	?+�+-�27��	.,�#	���	�.-���	)�	$�$	0�0<-�$	
�1/M�	+��$	.�	��,�.�	)+�.-��0���.�	��	���	.��-�	�.-���	�(/M�	#��$����+�	)�	��-$����$	
��00+�$	�.-	��	�-+$�)���	)�	�.	�+��<��3��=	�.-0�	��$3�����$	)�$	-��-+$���.��$	)�$	



�+�+2.�.�$	)�	���@�+-���-"	��$	.��-�$	#?.���-�$	$���	-��.��*$	.�@	#��)�����$	)�+��2�<����+	��	
)���+��2�<����+=	.�@	��#�0�.��<����+$=	.�@	)+#�.-.����$	)�	#.�)�).��-�=	>	�.	#.0�.2��	
+��#��-.��=	.�@	��+-.����$	+��#��-.��$	��	.�	-�#��$�0���	)�$	,���$=	.�	#���������@	��	
��*��	.�@	)�$��$�����$	�+�.��$"	�.	���,����	���	�-2.��3��	0�)�*��	+2.��0���	)�$	���$	)�	
090�	�.��-�	)���	��+#���0��	�$�	.**�#�+�	�.-	�.	#-+.����	)�	�+�.�"	��$$�	$��$����	.,+-+	
����-���=	).�$	��	$��#�	)�?.-0���$.����	.,�#	��$	-72��$	-+2�$$.��	#�-�.���$	��$��������$	
)�	�.	�+��<��3��=	)�	0�)�*��-	��$	)�$��$�����$	$��,.���$	A	�

•� ���	��	%&&1�14	)�	1	$����0<-�	%&&1	��	#�	3��	��	0.�).�	)�	�+�.���-	�$�	
��#�0�.��<��	.,�#	�.	3�.���+	)�	)+���+	��	)�	0�0<-�	)�	���$���	)�	�.	
�+��<��3��	���-	��$	�**.�-�$	+#���0�3��$	��	$�#�.��$	N		

•� ���	��	88�'!	)�	!'	*+,-��-	!888	��	#�	3��	��	���$���	���$�����������	$�-.	#?.-2+	
)�	#���.C�-�	)�	#���������@	)�	��+��#����	)�$	�+�.���-$	N		

•� ���$	��	%&&%�!&	)�	%'	*+,-��-	%&&%	��	��	%&&/�&'	)�	!!	0.�	%&&/	��	#�	3��	��$)��$	
��@��$=	-+2�$$.��	-�$��#��,�0���	�.	I.���	���-	)�	J�$��#�	��	�.	��00�$$���	
���#��-.��	�.����.��	������0�	)��,���	����-	#�0���	)�	�.	#-+.����	)�	�+�.�"		

�

��	���	��
������	��	%&&'�%'	
�	!!	J������	%&&'	��
������	��	���	
��
������	��	%&&'�%1	
�	%%	���	%&&'	������:�	��	�����	�

�.	���	�-2.��3��	��	%&&'�%1	)�	%%	0.�	%&&'	.D.��	���-.C�+	)�$	0�)�*�#.����$	).�$	)�$	
��@��$	*��).0���.�@=	��	.	*.���	�-�#+)�-	>	)�$	-+.0+�.2�0���$=	�����	����$�-����	).�$	��	
��)�	���#��-.�	)���	���,�.�	���-�	)+*���$$.��	��$	#��)�����$	��	��$	0�).���+$	)�	
)+$�2�.����	)�$	�+�.���-$"	��$	-72��$	.��$�	��$+�$	$���$��-���	�.-2�0���	)�	#����$	
-+2�$$.��	��+��#����	)�	�-+$�)���	)�	�.	�+��<��3��	��	#����	)�$	
+���+$"	�����).��=	
��+��#����	.�	$#-����	�����0��.�	>	��	���-	)�	�-�����#��3	�1/�	)�$	#���	�!&&�	�+�.���-$=	
3��	$�	*.��	.�	$�**-.2�	���,�-$��	��)�-�#�=	$�	-+,7��	<�.�#���	���$	$�0���	>	�-2.��$�-"	��	
�**��	���-	#�	$#-����=	��	���$�	�.$	<�$���=	�.-	�@�0���=	)�	)�$��$�-	)�	)+�.�$	$�0��.�-�$	>	
#��@	)�$	+��#����$	�-+$�)��������$	��	�+2�$�.��,�$=	3����	$�.2�$$�	)�	�.	#��,�#.����	)�	#���72�	
+��#��-.�=	)�$	)+#�.-.����$	)�	#.�)�).��-�$	��	)�	�.	#.0�.2��	+��#��-.��=	���.00���"	��	
#���72�	+��#��-.�	���-	#�	$#-����=	#��$����+	)�$	+��$	�
+���+$=	���$�����-$	-+2���.�@=	
���$�����-$	0���#��.�@	��	���$�����-$	-�-.�@�=	�$�	<�.�#���	���$	-+)���	3��	��	#�-�$	
+��#��-.�	���-	��	$�**-.2�	���,�-$��	)�-�#�	#�0��$+=	���=	)�	����$�0<��	)�$	#���D��$	
��$#-��$	$�-	��$	��$��$	+��#��-.��$"	�


.�$	���@��$+	)�$	0���*$	)�	#����	���	�-2.��3��=	��	�$�	�@���3�+	3����	.	*.���	����-	#�0���	
)�	��0<-�	)�+��$	���-	��+�.<�-.����	)�	�.	#.-��	+��#��-.��	.��$�	3��	)�	�.	�+#�$$��+	)�	
*.�-�	.����	>	)�.��-�$	0.2�$�-.�$	���-	�-+$�)�-	��$	<�-�.�@	)�	,���	��	#.$	)�	<�$���O 	��	
$�.2��	.�$$�	)�	#�0��+��-	��$	)�$��$�����$	$�-	��$	)�$$��-$	)�	#.�)�).��-�	��	#�	3��	
#��#�-��	��$	�.-��$	��	#�.������$	)�	�.-��$	3��	$���	$���$	?.<����+$	>	�-+$����-	)�$	
#.�)�).�$"	
�	-�$��=	#�-�.��$	.-��#��$	)�	-��,��	��	#�--�$���).����	���$	>	�.	���,����	
��0+-��.����	)�	��)�	���#��-.�"	���$�=	�.	���,����	���	,����	0���-�	)�	���-)-�=	
���.00���	��	�-���$.��	�.	-+)�#����	)�$	)+�.�$	��	�.	0�)�*�#.����	)�	#�-�.���$	
)�$��$�����$	)�$	.-��#��$	��"!66�1=	��"!66�!%=	��"!66�!(=	��"!66�!8=	��"!66�%1=	
��"!66�%'=	��"!66�%6=	��"!66�1&=	��"!66�1%	��	��"!66�14"	�

�.	����	#��$�)7-�=	��	,�-��	)�	$�$	#�0�+���#�$=	3��	���$	#�$	��@��$	���	+�+	<���	
.����3�+$	�.-	��$	.���-��+$	.)0���$�-.��,�$	#�0�+�����$"	��$	$����$	�<$�-,.����$	3������	
�-+$����	��-����	$�-	��$	)+�.�$=	�.-*��$	�-��	$�--+$=	3��	$+�.-���	������-,������	)�$	��@��$	



��	�.	�����	)�$	+��#����$"	���$	.,��$	�.	#��,�#����	3��	��$	��@��$	�-�$	��	5������	%&&'	�����	
�.$	+�+	)�**�$+$	>	��0�$	).�$	�����$	��$	#�-#��$#-������$	.)0���$�-.��,�$	��	3��	#�-�.��$	
+��#���-$	�����	�.$	��	��	�-��)-�	#���.�$$.�#�	.,.��	��	$#-����	)�	!8	.�B�	%&&'"	����
������������������������������
 !!����"#��� � !�$��������"�"������%�&��$�������%����"�

'
�����(�������"���!���#�)�" ��������"�"��!�!*�������+�&�,���-�����"�."���#���" ���.���%��"/

)/�����������0���������! ��&����������������� ������������"������.�! ����1��"����"��������

1 "�2�
�����%��0���#"#����0��"#�0�������#�#,����$�����"�� ����#�#�0�����""�� �,�����"� ��

� !!�����! �3�������#! ���"�������&��$�������%����"2	�

�

��	H	�� ���	��
�����������	�
�

��	
�����	��	%&&'�61(	
�	!!	J������	%&&'	�������	���:�������	
�	
�����
�	���������	����	����������	
��	���������	�

��.-��#��	�-�0��-	)�	
+#-��	%&&'�61(	)�	!!	5������	%&&'	)�$��$�	3��	��$	0�0<-�$	)�	
#���72�	+��#��-.�	�
+���+$=	���$�����-$	-+2���.�@=	���$�����-$	0���#��.�@	��	���$�����-$	
-�-.�@�	�-+,�$	>	��.-��#��	��"!66�1	)�	��)�	���#��-.�	$���	#��,�3�+$	��	)�0.�#?�	!8	
.�B�	%&&'	���-	��+��#����	)�$	�-�����#��3	�1/�	�+�.���-$	.�	$#-����	0.5�-��.�-�	
)+�.-��0���.�	�����0��.�	>	��	���-"	�

��	$#-����	�$�	��,�-�	>	6	?��-�$	��	#��$	>	!6	?��-�$=	��)�3��	��.-��#��	%	)�	
+#-��=	3��	
�-+#�$�	#����).��	3��	E	���-	)�$	-.�$��$	�-��-�$	>	#?.3��	#�-#��$#-������=	��$	

��,�-���-$	��	�-+*��$	$���	.���-�$+$=	��	#.$	)�	�+#�$$��+=	>	�-�-�2�-	��?��-�	)�	#�;��-�	
)�	$#-����	F"	�

�

��	
�����	��	%&&'�6'4	
�	!6	J������	%&&'	�������	��
���������	
�	��	
������	���
����������	
�	��
�	���������	�

��	�+�+2.�=	�.	���	+��#��-.��	�$�	#�0��$+�	)����	�.-���	�+2�$�.��,�	��	)����	�.-���	
-+2��0���.�-�"	��00�	)�	#����0�=	�.	���	�-2.��3��	$�-	��	�+�.�	.	*�@+	��$	2-.�)$	
�-��#���$	��	.	-��,�D+	#�-�.���$	0�).���+$	�-.��3��$	>	��	)+#-��	)�.����#.����"	���$�	��	
#.$=	���.00���=	)�	*�-0.�	)�	�.	#�-#��.�-�	)�	�-��.2.�)�=	)�	�.	��<��#.����	)�	�.	��$��	
)�$	+��#���-$=	)�	�.	)�$�-�<�����	)�$	#.-��$	)�+��#���-	��	)�$	)�#�0���$	-��.��*$	>	�.	
)+#�.-.����	)�	#.�)�).��-�"	��	+�.��	)��#	�+#�$$.�-�=	).�$	��	#.)-�	)�	�.	0�$�	��	G�,-�	)�	
#����	���=	)�	*.�-�	0�)�*��-	�.	�.-���	-+2��0���.�-�	)�	��)�	+��#��-.�	��	D	���+2-.��	��	
���-�	#�0��-�.��	)�$	)�$��$�����$	$�+#�*�3��$	>	��+��#����	)�$	�+�.���-$"	���$�	.��$�	3��>	
�.	�.-���	-+2��0���.�-�	)�	��)�	+��#��-.�=	��	.	+�+	.5���+	��	���-�	:	�������+	A	
E	
�$��$�����$	$�+#�*�3��$	>	��+��#����	)�$	�+�.���-$	F	��	3��	#�0��-��	��$	)�$��$�����$	
$��,.���$	A	�

•� E	�-��#��	!&6	A	��$	��$��$	+��#��-.��$	)�	�.	�+2���=	+�.<���$	�.-	
+�.-��0���	��	�.-	
�-)-�	.��?.<+��3��	���-	���	+��#����	$+�.��-�.��=	$���	#�00���3�+�$	�.-	,���	
)�.**�#?.2�	��	)�	#��$���.����	�.-	��	
��,�-���-"	����$	$���	�-.�$0�$�$	.�	�-+*��	
���-	��$	090�$	*��$	F"		

•� E	�-��#��	!&8	A	��$	#.-��$	)�+��#���-	���-	��+��#����	$+�.��-�.��	$���	-�0�$�$	.�@	
���+-�$$+$	)�	-�$$�-�	)�	
+�.-��0���	�.-	��$	�-+*��$	��	���$��-+*��$"	�.	-�0�$�	
�$�	*.���	$�-	�-+$���.����	)�	�.	#.-��	�.����.��	)��)�����+	��0+-�$+�	#���-�	
)+#?.-2�	F"		



•� E	�-��#��	!!&	A	�?.3��	��$��	)�	#.�)�).�$	>	��+��#����	$+�.��-�.��	����	*.�-�	
�0�-�0�-	���	#�-#��.�-�	*�-0.�	%!	 	%'"	�����	#�-#��.�-�	�$�	$��0�$�	.�@	
*�-0.���+$	)�	)+�;�	�+2.�"	�����*��$	��.**�#?.2�	�$�	-+2�	�.-	��$	)�$��$�����$	)�$	
.-��#��$	�"/6	��	�"(&	.��$�	3��	�.	�.-���	-+2��0���.�-�	)�	��)�	���#��-.�	F"		

•� E	�-��#��	!!!	A	��$	0�)7��$	)�	)�#�0���$	)���,�$����-�	��	)�	#.�)�).��-�=	)�	
090�	3��	��$	.��-�$	)�#�0���$	.���@�$	$���	)+��-0��+$	�.-	��	.--9�+	)�	
����$�-�	)�	�����+-���-	F"	��	#���-;��	�**�#��+	�.-	�.	����	.�	��,�.�	�.����.�	
.��$�	3��	�.-	��$	��
�	).�$	��$	)�**+-���$	
+�.-��0���$	)�	�.D$	.	)+<��#?+	$�-	
��	#��$�.�	3��	��$	��@��$	���	2+�+-.��0���	+�+	<���	.����3�+$	�.-����"		

�

��	
�����	��	%&&'�6'/	
�	!6	J������	%&&'	�������	��
���������	
�	
���������	�"18	
�	��
�	���������	�

��$	0�).���+$	)�	)�$�-�<�����	)�$	#.-��$	)�+��#���-	$���	-+2��$	�.-	��$	.-��#��$	�"/!=	�"/%	
��	�"/1	)�	��)�	���#��-.�=	0.�$	��$	)+�.�$	)�	)�$�-�<�����	)�$)��$	)�#�0���$	$���	
��#.)-+$	�.-	,���	-+2��0���.�-�"	���$�	.��$�	3��	��.-��#��	�"18	-��,���	�.	)�$�-�<�����	)�$	
#.-��$	>	3�.-.���	�4&�	5��-$	.,.��	��	)+<��	)�	�����	#.0�.2��	+��#��-.��	��	)�$��$�	3��	
��	�-�#�$$�$	�-��)	*��	>	�.	#�;��-�	)�	$#-����"	�����	��	-.���-�	)�	�-+$���.����	)�	)+#-��	
,�$+=	#����	)�$��$�����	)�	��.-��#��	�"18	.,.��	��	$��$	).�$	��.�#���	$D$�70�	�L	��$	#.-��$	
)�+��#���-	+�.����	+)��+�$	���-	��	$���	$#-����"	�	�-+$���=	����	���$�	�.$	.).��+�	���-	��$	
#.-��$	)�+��#���-	�$$��$	)�	�.	-�*����	���.��	)�	*�#?��-	+��#��-.�	��	3��	���	+�+	
#��*�#�����+�$	��	090�	��0�$	3��	��$	#.-��$	)��)�����+	��0+-�$+�$"	��	.	+�+	.5���+	>	
��.-��#��	�"18	)�	��)�	���#��-.�	�.	)�$��$�����	$��,.���	A	+�� �"�& ���0 ����������� ���
�.��0"� ����������������"����%#���"����0��1��"�4"������"��*�#��������5 ���������0#�� ���

���!��"� ��#������������ ���"� ���&�.#���0���������4"#����6����"�������%��"#������-2	�

�


�	�������	
�	��������	
�	�����������	��	
��	
��:�������	
�	
��
���	�

���	*��$	��-0��+	��	�-.,.��	)�	�.	#�00�$$���	)�	-+#������	)�$	#.�)�).��-�$	�3��	���$	
,�--��$	���$	�����=	��	#�-�.��	��0<-�	)�	��@��$	���	+�+	�-�$	�.��	.�	��,�.�	#���-.�	3��>	
#����	)�$	#����#��,��+$"	�.-0�	#�$	��@��$	A	�

•� ��.--9�+	��	1!"&'"%&&'	�	&&'6((	)�	����$�-�	)�	�����+-���-	��-�.��	-�#�,.<����+	
)�$	��$��$	)�$	#.�)�).�$	>	��+��#����	$+�.��-�.��	)�	!8	.�B�	%&&'	N		

•� ��.--9�+	��	&'"&6"%&&'	H	&&'816	)�	����$�-�	)�	�����+-���-	*�@.��	��$	#�����-$	��	
��$	$D0<���$	#?��$�$	�.-	��$	�.-��$	������3��$	���-	���0�-�$$���	)�	���-$	<�������$	
)�	,���	>	���##.$���	)�	��+��#����	$+�.��-�.��	)�	!8	.�B�	%&&'	N		

���-	��.����#.����	)�	����$�0<��	)�	#�$	��@��$=	�.	����	��	$�$	)+0�0<-�0���$	���	+�+	
#��$�.00���	>	���)	)�G�,-�=	#�	3��	���-	.	��-0�$	)�	����-	3��	��$	��@��$	����-,���$	���	
+�+	-�$��#�+$	�.-	��$	.���-��+$	.)0���$�-.��,�$"	�����).��=	#�00�	���$	��	,�--��$	).�$	
�.	)��@�70�	�.-���	)�	#�	-.���-�=	#��$.#-+�	>	�.	$���-,�$���	)�$	��+-.����$	+��#��-.��$=	
3���3��$	)D$*��#������0���$	���	+�+	���+$=	.0��.��	�.	����	>	*.�-�	��	$�-��	3��	$�����	
-�$��#�+�$	��$	)�$��$�����$	�+2.��$"	�

�

�




�� ����	�������
�

�

��	�����:�����	
������������	�����������	�

�

��-7$	������-,������	)�	�����	#����	$+-��	)�	��@��$	3��	���$	,����$	)�	,��-=	��	3��	.,.����	
$�-����	���	*��#����	0.5��-�	)�?.-0���$.����=	���	$�#��)�	�?.$�	$��$�	��2.2+�=	0��.��	
)�-�#��0���	>	�.	�����	�**�#��,�	)�$	+��#����$	$+�.��-�.��$"	
.�$	#�	#.)-�=	�.	����	.	
$���-,�$+	����$�0<��	)�$	+�.��$	)�	�-�#�$$�$	+��#��-.�	��	���.��	#�0���	)�	*.��	3����	��D	
.	�.$=	���-	����=	)�+��#����	0.5��-�	��	)�	$#-����	0����-"	���-	#�	*.�-�=	���-�	$�-�#��-�	
$��$�	*��)+�	$�-	��$	���,����$	)�$��$�����$	��-�������$	)�	��)�	���#��-.�=	���.00���	
��.-��#��	��"!66�%/	3��	)�$��$�	A	+������0�#7����������� !0#"�������#1 �������.�
7������"� �����������"����������� ��������0��1��� ���"����� �"�8���������
 !!���� ������" �����

	�"� �������" � !��'
�	�(2�
��
�	��1#��&�������#,�����"#�������� !0 ��"� ������*�����.�

���1 "��������$������������� 0#��"� ������1 "�������#0 �����!��"�����*����"�����"����

�#� !*��!��"�������&&��,��2�
��
�	��,����"�"���.�#���"�����������$�%��.����"������

�������"�����0�#�����������*����.������������������ �"��-22	�

�

�	H	��	�����	���������	��	���	������������	�
�

�.	���	�-2.��3��	��	%&&'�%1	)�	%%	0.�	%&&'	-��.��,�	.�	�+�.�	)�$��$�	3��	��	��0<-�	)�	
�+�.���-$	+��$	).�$	��$	
+�.-��0���$	�$�	*�@+	>	!&&	�#����	.��$�	-+�.-��$	A	�

•� �-�����#��3	�1/�	$+�.���-$	+��$	).�$	��$	)+�.-��0���$=		
•� ���@.����#��3	�(/�	$+�.���-$	��00+$	�.-	��	�-+$�)���	)�	�.	�+��<��3��=	�.-0�	
��$3���$	3�.�-�	�4�	-��-+$���.��	��$	�+�+2.�.�$	)�	���@�+-���-"		

•� 
.�$	#?.3��	)+�.-��0���	�$�	+��	��	$+�.���-	.�	$#-����	�����0��.�	0.5�-��.�-�	
>	��	���-	$�-	���	��$��	#�0�-��.��	��	�����.�-�	��	��	$����+.��"		

•� ��$	$+�.���-$	$���	+��$	).�$	#?.3��	)+�.-��0���	�.-	��	#���72�	+��#��-.�	
#�0��$+	)�	A		

�� 
+���+$		
�� ���$�����-$	-+2���.�@		
�� ���$�����-$	0���#��.�@	��	#��$������-$	-�-.�@		

�.	��00�$$���	���#��-.��	�.����.��	������0�	.	�-�#+)+	>	��	#���-;��	.��-�*��)�	)�	
�.	#��$�$�.�#�	)�	#�-�$	+��#��-.�=	3��	.	�+#�$$��+	��	*.��	�.	0�$�	��	��.#�	)���	���,�.�	
*�#?��-"	��+�.<��$$�0���	)�	#�	*�#?��-	.	+�+	.$$�-+	�.-	����$#-������	)�$	+��#���-$	).�$	��$	
��00���$=	�-+*�#��-�$	��	��00��.��+$	-�-.��$	)�	�.D$"	��	#�-�$	+��#��-.�=	3��	�$�	
#�0��$+	)�$	+��$	�$$�$	)�$	+��#����$	-+2���.��$=	0���#��.��$	��	-�-.��$	)�	!%	0.�	%&&%=	$�	
�-+$����	#�00�	$���	A	�

��������:����	
��������

�����������������

��2���$� !!� /%%�



��00���$� ('� %	'!6�

��00���$	
)�.--��)�$$�0���$�

41� !	8!(�

��00��.���$	
-�-.��$�

1%!� 8	(16�

������ 44%� !4	'84�

� � �

��00�	#�	*��	��	#.$	��-$	)�$	+��#����$	)�	*+,-��-	��	5���	%&&'=	���)0���$�-.����	.	����	>	
0���-�	��	��.#�	��	$D$�70�	)���$#-������	)�$	+��#���-$	>	�-.,�-$	�.	#-+.����	)�	
#�00�$$���$	$�+#�*�3��$	.�	��,�.�	)�$	
+�.-��0���$	��	)�$	���$��-+*�#��-�$"	���-	
���,��-	$���$#-�-�	.*��	)�.,��-	�.	��$$�<����+	)�	,���-=	�.	�-+$��#�	�?D$�3��	)�	��+��#���-	
)�,.��	�.	#�00�$$���	+�.��	�@�2+�=	#�	)���	$�	$���	.$$�-+$	��$	#���-;���-$	)�	�.	����=	
3��	���	$�+2+	$.�$	)+$�0�.-�-"	�.	����	.	-���,+	3����	��D	.	�-.��3��0���	�.$	��	)�	
�?.$�	#���������$�	>	�.	$����	)�$	��$#-������$"	�	:+���2.-.=	�.-	�@�0���=	��$	��$#-������$	
$���	.--�,+�$	>	���-	��-0�	>	�.	).��	)�	%1	5������	.��-$	3��	�.	�+-��)�	#���������$�	)�,.��	
$�.#?�,�-	��	%4	5������"	�.	090�	$���.����	.	+�+	#��$�.�+�	).�$	�.	����.-�	)�$	

+�.-��0���$	)�	�.D$"	�	��.��-�#?�	)�	�.	�����	)�	$#-����	$+�.��-�.�	��	.�-7$	.,��-	
#��$�.�+	3��	#�-�.��$	+��$	��+�.����	�.$	��#�-�	��$#-��$=	��	����$�7-�	)�	�����+-���-	.	
.���-�$+	��$	#�00�$$���$	.)0���$�-.��,�$	>	#�������-	)���$#-�-�	��$	��-$����$	$�	
�-+$���.��	$�-	)�$	��$��$	.))����������$"	�.	����=	3��	.	+�+	$����#��+�	$�-	�.	3��$����=	.	
)���+	$��	.,.�=	��	)�0.�).��	#����).��	>	$�$	)+0�0<-�0���$	)�	����	#��$�2��-	�.-	
+#-��	�:��-	����@�$�"	�

�	P.���	��	>	�.0<.#���).	3���3��$	��$#-������$=	���.00���	��-$	)�	�.	�-�0�7-�	�?.$�=	
���	+�+	��+-+�$	��	��.<$��#�	)�$	#���-;���-$	)�	�.	����=	�.�)�$	3��>	
.Q.-	��	>	
��*�$3��=	��	.	$�-����	���+=	$�-	��$	��$��$	.))���,�$=	��.<$��#�	)�	0������$	-��.��,�$	.�@	
).��$	��	����@	)�	�.�$$.�#�	)�$	��-$����$	#��#�-�+�$"	�	-�����-	3��	$�-	����$�0<��	)�$	
#.$	)��--+2��.-��+$	���+$=	�.	����	.	,����+	>	*.�-�	-�$��#��-	�.	���	+��#��-.��=	)�	#��#�-�	
.,�#	��$	.��-�$	0�0<-�$	)�	<�-�.�	)�	,���=	��	��	��-0���.��	�.$	.�@	��-$����$	���	
?.<����+�$	>	,���-"	����	.	.�$$�	����	>	.##�0�.2��-	.�	���$	�-7$	���	�0��-�.���	-+*�-0�	
.)0���$�-.��,�	����-,����	).�$	������-,.���=	>	$.,��-	��+-�#����	)�	P���2?���	��	

+�.-��0���"	�+.2�$$.��	.,�#	�-�0�����)�	��	#��$�.�.��	3����	.,.��	��<��+	)�	
��.$$�#��-=	�.	����	.	-+�$$�	>	$��,-�	��	�-�#�$$�$"	��	�**��=	��.����#.����=	,�-$	�.	*��	)�	
0��$	)�.,-��	%&&'=	)�	)+#-��	��-�.��	#-+.����	)�	
+�.-��0���	)�	P���2?���=	�.-	
����$�.��.����	)���	�-+*��	��	)�	�-��$	���$��-+*��$=	.	��	���-	#��$+3���#�=	.�	��,�.�	)�	�.	
����=	���)����*�#.����	��	�.	��0��.����	)�$	0�0<-�$	)�	�.	��
�	)�)��	)+�.-��0���"	
�����).��	#����	$�-�#��-�	��#.��	��.D.��	��	9�-�	������0���	��+-.���������	)�	*.��	)�	
��.<$��#�	)�	0�$�-�$	)�.##�0�.2��0���=	#�00�	�.-	�@�0���	��	*.��	3��	$�$	0�0<-�$	
��.,.����	�.$	��	��	��0�$	)�	�-9��-	$�-0���	��	��	)�$��$.����	�.$	)�$	0�D��$	)�	
*��#������0���	�+#�$$.�-�$=	#��$�	�.	��
�	)�	P.**-���=	.��.-.,.��	#�0�+�����	).�$	
#����	��#.���+=	3��	$��$�	#?.-2+�	)�	�.	$���-,�$���	��	)�	#���-;��	)�	�-�#�$$�$	+��#��-.�	
).�$	��$	)��@	
+�.-��0���$"	�

�

��	H	��	�����	����������	�
�



��	�.	#.-��	)�+��#���-	�$�	��	)�#�0���	)��)�����+	��-0���.��	>	��	#���D��	)�	,���-=	�.	#.-��	
+��#��-.��=	����=	-��-+$����	�.	��#.��$.����	2+�2-.�?�3��	)�$	<�-�.�@	)�	,���	$�-	
����$�0<��	)�	��--����-�"	���-	#�	3��	�$�	)�$	+��#����$	$+�.��-�.��$=	��	��0<-�	)�$	
<�-�.�@	)�	,���	$��$�	+��,+	>	�-��������*	�18�=	)���	$�@	�(�	���-	�.	-+2���	)�	
.Q.-	��	
3�.�-�	�4�	���-	��$	-+2���	)�	P.��.#Q=	P��).	��	�?�7$"	��$	$���	.��-�$	-+2���$	$�	$���	
-��-��,+�$	.,�#=	#?.#���=	�-��$	�1�	<�-�.�@	)�	,���	�:��-	����@�$�"	�

��	���-�=	��	.	+�+	#��*�#�����+	���	#.-��	)�+��#���-	$�+#�.��	)�$���+�	�@#��$�,�0���	.�@	
,��.��$=	#��$��>�)�-�	��$	E	2-.�)$	+��#���-$	F	3��	$���	��$	
+���+$=	��$	���$�����-$	
-+2���.�@=	��$	���$�����-$	0���#��.�@	��	��$	���$�����-$	-�-.�@"	��	��$	)�**+-���$	
<�-�.�@	�L	��$	+�.����	.����+$	>	,���-	$���	��#.��$+$	).�$	��$	��00���$	#?�*$�����@	)�	
#?.3��	
+�.-��0���"	�

��	,��	)�	$#-����=	��	.	)���	+�+	#-++	���	��$��	+��#��-.��	�.-	
+�.-��0���	).�$	��$	
#��)�����$	�-+,��$	�.-	��.-��#��	��"!66�%'	)�	��)�	���#��-.�"	��	��@��	)�$��$�	3��	
3�.-.����#��3	5��-$	.�	���$	�.-)	.,.��	��+��#����	)�$	$+�.���-$=	��	
��,�-���-=	$��$	�.	
$���-,�$���	��	��	#���-;��	)�	�.	����=	)-�$$�	�.-	�-)-�	.��?.<+��3��	���	��$��	)�$	
+��#���-$	���-	#?.3��	
+�.-��0���	)�	�.	�+2���"	�����	��$��	#�0�-��)	��$	0�0<-�$	)�	
#���72�	+��#��-.�"	�

��	-.�$��	)�$	)+�.�$	3��	���	+�+	.<-+2+$=	��$	.���-��+$	.)0���$�-.��,�$	)+#��#���-+�$	
�
��,�-���-$=	�-+*��$	��	���$��-+*��$�	���	�-.,.���+	�����$+0���	��	��<��.��	�.-*��$	
)�.$$�#��-	�.	����	>	���-$	.#��,��+$"	�.�$	#�00�	)+5>	��)�3�+=	�.	$�-�#��-�	)�	#���-;��	
��	)�	$���-,�$���	.	,����+	>	*.�-�	-�$��#��-	�.	���	+��#��-.��	)�	0.��7-�	>	.$$�-�-	�.	
-+2��.-��+=	�.	�-.�$�.-��#�	��	�.	$��#+-��+	)�	$#-����"	�.	��$��	)�$	+��#���-$	#�00�	�.	
#.-��	+��#��-.��	���	+�+	#��*�#�����+�$	.,�#	<�.�#���	)�	-��.-)"	��	���-�=	�.	��$��	
)�+0.-2�0���	��.	�.$	+�+	0�$�	>	�.	)�$��$�����	)�$	#���-;���-$	)�	�.	����	).�$	��$	
<�-�.�@	)�	,���"	�

�

���	H	��	
����	
��	���
�
������	�
�

��@	��-0�$	)�	�.	���=	����	#.�)�).�	>	��	��$��	)�	�+�.���-	�$�	����	)�	*.�-�	���	
)+#�.-.����	)�	#.�)�).��-�	-�,9���	)�	$.	$�2�.��-�	��	+���K.��	$�$	��0=	�-+��0$=	).��	
��	����	)�	�.�$$.�#�=	)�0�#���	��	�-�*�$$���"	��	�$�	.�$$�	0�������+	).�$	#����	)+#�.-.����	
��$	��0=	�-+��0$=	).��	��	����	)�	�.�$$.�#�=	)�0�#���	��	�-�*�$$���	)�	�.	��-$����	#?��$��	
#�00�	$����+.��=	��	D	5��2�.��	��.##������	+#-���	)�	#����	)�-��7-�=	3��	)���	-�0���-	��$	
#��)�����$	)�+��2�<����+	�@�2+�$	�.-	�.	���"	�

�����).��=	���	��	����	9�-�	#.�)�).�	).�$	���$	)���	
+�.-��0���=	#�00�	���	��	����	
*�2�-�-	��	3�.���+	)�	$����+.��	$�-	���$���-$	)+#�.-.����$	)�	#.�)�).��-�$	��	���	��	����	
9�-�	>	�.	*��$	#.�)�).�	��	$����+.��	)���	.��-�	#.�)�).�"	��$	)+#�.-.����$	)�	#.�)�).��-�	
$���	)+��$+�$	.�	����$�7-�	)�	�����+-���-	#��3�.���	5��-$	.�	0���$	.,.��	�.	).��	)�	
$#-����"	��$	$�-,�#�$	)�	����$�-�	)�	�����+-���-	)+��,-���	.��-$	��	-+#+��$$+	)�	)+�;�=	
0.�$	#�����#�	��	�-+5�2�	�����	)�	�.	-�#�,.<����+	)�$	#.�)�).��-�$	�-+$���+�$"	��	�**��=	��$	
)+#�.-.����$	-�K��$	.�	����$�7-�	)�	�����+-���-	��	��$	��7#�$	3��	��$	.##�0�.2����	$���	
�����$	>	�.	)�$��$�����	)�	#?.3��	#.�)�).�	3��	����	��	,+-�*��-	��	#������	�.-	��	
0.�).�.�-�"	�



��00�	�.	���	���	��	*.��	�<��2.����=	�.	����	+�.��	-��-+$���+�	��	0.-)�	%'	5������	%&&'	.�	
����$�7-�	)�	�����+-���-	�.-	���	0�$$���	#��)����	�.-	�"	�0$.�.	�.��=	��	)�	$�$	
0�0<-�$=	���-	#���-;��-	��	$���-,�$�-	��	)+�;�	)�$	#.�)�).��-�$	��	,��	)�$	+��#����$	
$+�.��-�.��$	)�	!8	.�B�"	�.	0�$$���	.	���.00���	�<$�-,+	3��	���$���-$	)+#�.-.����$	)�	
#.�)�).��-�	�����	�.$	+�+	$�2�+�$	�.-	�.	��-$����	���+-�$$+�=	0.�$	�.-	$��	0.�).�.�-�=	
3��	#�-�.���$	��7#�$	*��-���$	��+�.����	�.$	,.�.<��$=	$���	�.-#�	3������$	+�.����	�+-�0+�$	
$���	�.-#�	3������$	#�0��-�.����	)�$	�--��-$	0.��*�$��$"	�

���$�	.��$�	3����	.	���+	)�$	#����$	)�	#.-��$	)��)�����+	���	�+2.��$+�$	���Q���=	
�$$.$=	
P���2?���=	���-�=	���2.=	�+)?���=	�.0<.#���).=	P+)��2���=	)�$	�@�-.��$	)�	�.�$$.�#�	
).�.��	)�	���$	)�	$�@	0��$	��.�.0=	�.0<.#���).�=	)�$	�@�-.��$	)�	#.$��-	5�)�#�.�-�	
,���@	)�	���$	)�	�-��$	0��$	���Q���=	
�$$.$=	���-�=	�.�.0=	�.0<.#���).=	��,.��.���"	�

�

�:	H	��	�����
��	����������	�
�

���*�-0+0���	.�@	)�$��$�����$	��-�������$	)�	��)�	���#��-.�=	�.	#.0�.2��	+��#��-.��	
��	,��	)�	��+��#����	)�$	�+�.���-$	�$�	��,�-��	,��2�	��	��	5��-$	.,.��	�.	).��	)�	$#-����	��	
�-��)	*��	�.	,�����	)�$	+��#����$	>	R+-�	?��-�"	
�$	-+�����$	+��#��-.��$	���-	��+��#����	)�$	
�+�.���-$	���,���	9�-�	�����$	>	�.-��-	)�	�.	��<��#.����	)�	)+#-��	)�	#��,�#.����	)�$	
+��#���-$"	�?.3��	#.�)�).�	.	�.	*.#���+	)�	*.�-�	�0�-�0�-	��	)�.)-�$$�-	.�@	0�0<-�$	)�	
#���72�	+��#��-.�	���	#�-#��.�-�	)�	�-��.2.�)�	)���	��	*�-0.�	�$�	�-+#�$+	�.-	)+#-��"	�

�����).��=	�.	#.0�.2��	+��#��-.��	���-	��$	+��#����$	$+�.��-�.��$	)�	!8	.�B�	%&&'	��.	
�.$	*.��	���<5��	)����	)�**�$���	-.)���+�+,�$+�	$D$�+0.��3��	��	)����	#��,�-��-�	
0+)�.��3��	�.-��#���7-�	#�00�	#����$	.D.��	�-+#+)+	�.	�-+$�)��������	)�	%/	*+,-��-	%&&'	
��	��$	�+2�$�.��,�$	)�	1	5���	%&&'"	�

�

:	H	��	
�����������	
��	������	
���������	��	��������	
���������	�

��	��	0.�+-���	+��#��-.�	.	+�+	)+��$+	>	��0�$	).�$	���$	��$	����@	��	<�-�.�@	)�	,���=	.��$�	
3��	�����	$�2�.�+	��$	)�**+-���$	#���-;���-$	��	$���-,�$��-$	)�	�.	����	$�-	��	��--.��=	��	
����	.	�.$	+�+	)�	090�	��	#�	3��	#��#�-��	�.	)�$�-�<�����	)�$	#.-��$	)�+��#���-=	3��	.	
#����	)�	��0<-��@	)D$*��#������0���$"	
�,.��	���-2��#�	��	#�0���	����	)�	*.��	3��	��$	
���+-�$$+$	$���	)�$	+��$=	)�$	��-$����$	$��,���	<���	#�����$	).�$	��$	��)-���$	�L	����$	
)�,.����	,���-=	��$	.���-��+$	��#.��$	���	�.-*��$	5�2+	�+#�$$.�-�	)�	-�0���-�	)�$	#.-��$	
)�+��#���-	>	���-$	�-��-�+�.�-�$	��	��.<$��#�	)�	-��-+$���.��	)�	�.	����"	�

��	���-�=	)�	��0<-��$�$	#��*�$���$	)�	��0$	)�	*.��	)�$	?�0��D0��$=	)�$	�--��-$	)�	
�-.�$#-������	$�-	��$	��0$	.��$�	3��	)�$	�0�$$���$	)�	0������$	���	+�+	#��$�.�+�$	�#�	��	
�>=	#�00�	���$	��.,��$	-��.�+	���$	?.��"	��-�.���$	���	��	9�-�	-�)-�$$+�$	>	��0�$	>	
�-.,�-$	)�$	�-)���.�#�$	)+��,-+�$	�.-	���	��	���	�-�<��.�	)+�.-��0���.�	�P.**-���=	
P���2?����=	0.�$	)�.��-�$	���	)B	*.�-�	���<5��	)�	��$��$	.))���,�$=	.#?�0��+�$	��	
�@�-�0�$=	�.	,�����=	,��-�	��	5��-	090�	)�	$#-����	#�00�	#�	*��	��	#.$	>	�.��������$	�

�.	��
�	)�	P+)��2��	-.���-��	3��	��	$#-����	$��$�	)+-���+	$�-	�.	<.$�	)�	)��@	��$��$	
)�+��#���-$=	)���	�����	#��#�-�.��	��$	+��$	3��	��	$�+�.����	�.$	��$#-��$	).�$	��$	)+�.�$	��	



$�-	�.3�����	��	.	+�+	#��$�.�+	)�$	#.$	)�	����#��*�-0��+	���-�	��$	)���+�$	$�-	�.	#.-��	
)��)�����+	�.����.��	��	#����$	$�-	�.	#.-��	)�+��#���-"	���-	$.	�.-�=	�.	��
�	)�	
.Q.-	*.��	
�<$�-,�-	3��	#�-�.��$	+��#���-$	3��	*�2�-.����	$�-	�.	��$��	�-�,�$��-�	���	+�+	-+��$#-��$	$�-	
�.	��$��	.))���,�=	#�	3��	-��7,�	)�	�S�����0���$	��.)0�$$�<��$	>	#�	$�.)�"	��$	)��@	#.$	)�	
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��	�!�	���-	��	$�#��)"	�:��-	��$��	��	����@�$�"	�
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������"	��	)+�;�	)�$	#.�)�).��-�$=	3��	$�	�����	,��2��#��3	�%/�	5��-$	.,.��	��	$#-����=	
*.��	$����	>	)�$	+�.��$	�0��-�.���$=	���.00���	�.	#��,�#.����	)�	#���72�	+��#��-.�	
�.-��#��	��"!66�%1�	�-�����#��3	�1/�	5��-$	.�	���$	.,.��	��	$#-����	�!1	5������	%&&'�	��	�.	
��<��#.����	)�	�.	��$��	)�$	+��#���-$	�.-��#��	��"!66�%'�	�-����	5��-$	.�	���$	.,.��	��	
$#-����	�5��)�	!8	5������	%&&'�"	�

��-7$	�.	�?.$�	)�	)+�;�=	���	$��,�	�.	��<��#.����	)�$	)+#�.-.����$	)�	#.�)�).��-�	�.-��#��	
��"!66�!(�	,��2�	�%&�	5��-$	.,.��	��	$#-����	����)�	1&	5������	%&&'�	��	�.	#.0�.2��	
+��#��-.��	�.-��#��	��"!66�%1�	3���R�	�!/�	5��-$	.,.��	��	$#-����	�$.0�)�	4	.�B�	%&&'�"	�



��	�$�	�0��-�.��	)�	$����2��-	3��=	#���-.�-�0���	>	�.	�-.��3��	��	#��-$	.�@	+��#����$	
�+2�$�.��,�$=	�.	����*�#.����	)�	���-�	)�	#�.������	)�	�.-��$	��	,��	)�$	�+�.��-�.��$	��	$�	*.��	
�.$=	��$	�.-��$	������3��$	D	.��.��	#?.#��	$��$	���-	�-��-�	<.���7-�"	��	���$=	��	
.��.-�����	.�	#.�)�).�	�����.�-�	����090�	)���)�3��-	��	��0	)�	$��	$����+.��	).�$	�.	
)+#�.-.����	)�	#.�)�).��-�"	���-	��$	)�**+-����$	$�-��$	)�	)+#�.-.����=	)�$	*�-0��.�-�$�
�D��$	>	-�0���-	���	+�+	*��-��$	�.-	�.	

�	.�@	)�**+-���$	�.-��$"	�

���-$	3��	��$	0�0<-�$	)�	�.	#�00�$$���	)�	-+#������	)�$	#.�)�).��-�$	+�.����	)+5>	��	
$.���	)7$	6	?��-�$=	��$	�-�0��-$	0.�).�.�-�$	�����	#�00��#+	>	$�	�-+$����-	3����	0�����	
)�.�-7$�0�)�"	��$����=	���-	��	�.$	9�-�	*�-#��$	.�-7$	0�����=	��$	$�	-����=	2+�+-.��0���	>	
�.-��-	)�	%1?1&=	).�$	�.	#��-	)�	����$�7-�	)�	�����+-���-=	�L	��$	#���������=	,��-�	
#�00��#���=	�.	#��*�#����	)�	���-$	��$��$"	�����	$���.����	-�2-���.<��	.07��	�.	
#�00�$$���	>	-�#�,��-	)�$	)�$$��-$	)�	#.�)�).��-�	5�$3��.��)��>	)�	)+�.�	�-+,�	�.-	
��.-��#��	�"!(6	)�	��)�	���#��-.�"	��	�**��=	#�0���	����	)�	*.��	3��	�-.��3��0���	���$	
��$	-��-+$���.��$	)�	#.�)�).�$	�-�#7)���	)�	�.	090�	*.K��	��	#������.��	>	*�2����-	
���-$	��$��$	<���	.�-7$	��?��-�	��0���=	��$	.���-��+$	.)0���$�-.��,�$	��	��$	-��-+$���.��$	)�	
�.	����	$�	-��-��,���	<���	�<��2+$	)�	*.�-�	�-��,�	)�	���+-.�#�O 	�

���$�	.��$�	�.-	�@�0���	3��=	#��*�-0+0���	>	��.-��#��	��"!'/	)�	�.	���	��	%&&(�4!	)�	!!	
)+#�0<-�	%&&(=	��$	0�0<-�$	)�	�.	#�00�$$���	)�	-+#������	)�$	#.�)�).��-�$	���	.##���+	
��$	)�$$��-$	#�����.��	)�$	��7#�$	�+-�0+�$	��	���	-�,9���$	)�	#.#?��	��	)�	$�2�.��-�	)�	
2-�**��-	��	)�	���**�#��-	)�+�.�	#�,��"	��	*.��	.�$$�	$����2��-	3��	���-	�����$	��$	��$��$	
-���-+�$=	#�	$���	��$	0.�).�.�-�$	3��=	0.�2-+	��$	)�$��$�����$	)�	��.-��#��	��"!'/	)�	��)�	
���#��-.�=	���	)+#�)+	)�	-��-.��"	��	���-�=	��	�-.���0���	)�$	)�$$��-$	�-+$���+$	0���-�	
3��	<�.�#���	)�	�.-��$	������3��$	��	$�	-.��-�#?���	�.$	)�	�.	
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���-	#?.3��	�.-��=	#��$�	.�	��-0�	)�	�-.,.��	)�	#���-;��	��	)�	$���-,�$���	)�$	)�$$��-$	)�	
#.�)�).��-�	3��	�"	�0$.�.	�.��=	#?�*	)�	�.	)+�+2.����	)�	�.	����=	,�$�	��	-+#+��$$+	
)+��,-+	�.-	��	����$�7-�	)�	�����+-���-	���-	.���$��-	)�	)+�;�	).�$	��$	*�-0�$	��	��$	)+�.�$	
�+2.�@	�.-��#��	�"!(6	)�	�.	���	��	%&&(�4!	)�	!!	)+#�0<-�	%&&("	����	#�0���	*.��=	��	
�-.,.��	.	+�+	#�--�#��0���	�**�#��+=	���.00���	2-S#�	>	�.	*-.�#?�	#���.<�-.����	���-�	��$	
0�0<-�$	)�	�.	#�00�$$���	).�$	��	-�$��#�	)�$	)�$��$�����$	)�	��)�	���#��-.�"	�
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+��#����$	$+�.��-�.��$	)�	!8	.�B�	%&&'=	���$	.,��$	5�2+	�����	)�	*�-0���-	��	#�-�.��	
��0<-�	)�	-�#�00.�).����$	)���	�.	0�$�	��	G�,-�	)�,-.��	��-0���-�	)�.0+���-�-	���-�	
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�� �-��#��	���3��	A	��	�$�	.5���+	>	��.-��#��	�18	�.	)�$��$�����	$��,.���	A	E	
�����*��$	���-	)�$	-.�$��$	�@#�����������$=	��$	#.-��$	)�+��#���-$	���,���	
9�-�	)�$�-�<�+�$	��	)�?�-$	)�	�.	�+-��)�	$�$0�������+�	).�$	)�$	#��)�����$	
*�@+�$	�.-	��	.--9�+	)�	����$�-�	)�	�����+-���-	F"		

�� �-��#��	%	A	��	����$�-�	)���.�=	����$�-�	)�	�����+-���-	�$�	#?.-2+	)�	
���@+#�����	)�	�-+$���	)+#-��	3��	$�-.	��<��+	.�	5��-�.�	�**�#���"		

�.��	>	
.Q.-=	��	!6	J������	%&&'	
�.-	��	�-+$�)���	)�	�.	�+��<��3��	
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��	�-+$���	�-�5��	)�	���	#��$�������������	.	���-	�<5��	)�	-�����-	.,�#	��	
<�#.0+-�$0�"	��	�+�.�	#��$�����	.,�#	���$$�0<�+�	�.����.��	��	�.-��0���	�.-��#��	
(	)�	�.	#��$���������"	�����	-+*�-0�	$���$#-��	).�$	��	-��*�-#�0���	)�	�.	
)+#���-.��$.����	��	.$$�-.��	�.	-��-+$���.����	)�$	#����#��,��+$	��#.��$	.�	�+�.�	
�.-	��+��#����	)�	���-$	.�	0���$	)�	$�$	0�0<-�$	�(&�!	)�	�.	���$���������"	
�	
090�=	��$	�+�+2.�.�$	)�	���@�+-���-	)�$��$���	)�	-��-+$���.��$	��	$��	$���"	��*��=	
���	�.-���	)�$	$+�.���-$	�$�	��00+�	�.-	��	�-+$�)���	)�	�+��<��3��"	��	0.�).�	
)�$	$+�.���-$	>	����$�.-	)�	#����	)�$	)+���+$	�$�	)�	#��3	.�$"		

���	���	�-2.��3��	*�@�=	���.00���=	��	��0<-�	)�$	$+�.���-$=	��	-+2�0�	)�$	
��+��2�<����+$	��	��$	��#�0�.��<����+$"	��-�.��$	���,��-$	#��$�����������$	-�#����$	>	
���$$�0<�+�	�.����.��	$���	+���)�$	.�	�+�.�"	��	��	�$�	.��$�	)�	�.	#��$���.����	)�	
�-+$�)���	)�	���$$�0<�+�	�.����.��	��	0.��7-�	)�	-+*+-��)�0	.-��#��	/!	)�	�.	
#��$��������	�=)�	$��	-;��	).�$	�.	0�$�	��	���,-�	)�$	���,��-$	�@#���������$	
�.-��#��	/%	)�	�.	#��$���������=	)�	���,��-	)�	$�$	0�0<-�$	)�	$.�$�-	��	���$���	
#��$�����������	)���	-�#��-$	,�$.��	>	*.�-�	)+#�.-�-	���	���	
��#��$��������������.-��#��	'4	)�	�.	#��$���������=)�	�.	��$$�<����+	)�9�-�	
)�$���.�.�-�	)�$	0�$$.2�$	)�	�-+$�)���	)�	�.	�+��<��3���.-��#��	'8	)�	�.	
#��$���������=)�	�.	�.-��#��.����	)�	$�$	0�0<-�$	>	�.	I.���	#��-"	)�	5�$��#�	
�.-��#��	!&&	)�	�.	���$���������=)�	$."�.-��#��.����	>	�.	-+,�$���	)�	�.	���$��������"	
�.-��#��	!&1	)�	�.	���$���������"		
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��	�������	��	���	�	���	���	
���	�����������������	��	%&&'�&(	������	��	�����		

��	�$$�0<�+�	�.����.��	.	.)���+=	>	�.	0.5�-��+	)�$	�-��$	#��3��70�$	)�$	0�0<-�$	
�.	#�0��$.��=	��	$.	$+.�#�	)�	0�-#-�)�	1!	5.�,��-	%&&'	N		

��	�-+$�)���	)�	�.	�+��<��3��	�-�0��2��	�.	���	#��$�������������	)���	�.	�����-	
$���	A		

�� �-��#��	�-�0��-	�	��.-��#��	(	)�	�.	���$��������=	��$	0��$	A	E	���$$�0<�+�	
�.����.��	F	$���	-�0��.#+$	�.-	��$	0��$	A	E	��	�.-��0���	3��	#�0�-��)	
)��@	.$$�0<�+�$	A	���$$�0<�+�	�.����.��	��	��	�+�.�	F"		

�� �-��#��	%	��	�-��$�70�	.���+.	)�	��.-��#��	18	)�	�.	���$��������	�$�	-�0��.#+	
�.-	��$	)�$��$�����$	A	E	�����*��$=	��	#.$	)�	)�$$�������	)�	�Z�$$�0<�+�	
�.����.��=	�.	$����+.�#�	)�	�-+$�)���	)�	�.	�+��<��3��	�$�	.$$�-+�	�.-	��	
�-+$�)���	)�	�+�.�	��=	$���	�$�	���	090�	�0�9#?+=	�.-	����	)�$	,�#��
�-+$�)���$	)�	�+�.�=	).�$	���-)-�	)�	�-+$+.�#�	F"		

�� �-��#��	1	��	$�#��)	.���+.	)�	��.-��#��	41	)�	�.	���$��������=	��	��0<-�	E	
(&�[	F	�$�"	��$+-+	���-�	��$	��0<-�$	E	/%	F	��	E	'4F"		

�� �-��#��	4	�	��.-��#��	/!	)�	�.	���$��������=	��-�	E	��.,�$	)�	�-+$�)���	F"	
��-7$	��$	0��$	A	E	�$$�0<�+�	�.����.��	F	$���	��$+-+$	��$	0��$	A	E=	)�	
�-+$�)���	)�	�+�.�	F		

�� �-��#��	/	��$	3�.�-�70�=	#��3��70�	��	$�@�70�	.���+.$	)�	��.-��#��	/%	)�	�.	
���$��������	$���	-�0��.#+$	�.-	��$	)�$��$�����$	$��,.���$A		

E	��	�.-��0���	$�	-+����	)�	�����	)-���	F	E	��	�$�	$.�$�	���-	-.��*�#.����=	
).�$	��$	3���R�	5��-$	)�	���-	�-�0��2.����=	)�$	0�$�-�$	)�	�.��-�	
�+2�$�.��,�	0�$�$	��	,�2���-	�.-	��	�-+$�)���"	��	����	��$	.0��)�-	��	��$	
-�5���-	>	���##.$���	)�	,���	)�	�.	���	)�	-.��*�#.����"	��$	0�$�-�$	
)�,�������	#.)�3��$	$�	��	�-�5��	)�	���	)�	-.��*�#.����	���$�	�.$	)+��$+	$�-	
��	<�-�.�	)�	���$$�0<�+�	�.����.��	).�$	��)��	)+�.�"	E	���$$�0<�+�	
�.����.��	��	����	9�-�	)�$$����	����).��	"���@�-#�#�	)�$	���,��-$	
�@#���������$"""	���	-�$��	$.�$	#?.�2�0����"	F		

�� �-��#��	(	��	��<���+	)�	���-�	:�	)�	�.	���$��������	�$�	-�0��.#+	�.-	��	��<���+	
$��,.��	E	��	�.-��0���	F		

�� �-��#��	'	��.-��#��	/8	)�	�.	#��$��������	�$�	-�0��.#+	�.-	��$	)�$��$�����$	
$��,.���$A		
E	��$	.$$�0<�+�$	-��-+$���.��,�$	)�	�.	�+��<��3��	)�	�+�+2.�	��-����	��$	
��0$	)��$$�0<�+�	�.����.��	��	)�	�+�.�"	
E	���-$	0�0<-�$	��-����	��$	���-�$	)�	)+���+$	>	���$$�0<�+�	�.����.��	��	
)�	$+�.���-$"	F	

�� �-��#��	6	��	)�-���-	.���+.	)�	��.-��#��	(&	)�	�.	#��$��������	�$�	#�0��+�+	
�.-	���	�?-.$�	.��$�	-+)�2+�A	E	��	�$�	-�0��.#+	).�$	��$	#��)�����$	
)+��-0��+�$	�.-	���	���	�-2.��3��"	F		

�� �-��#��	8	��-7$	��.-��#��	(&	)�	�.	#��$��������=	��	�$�	��$+-+	��	.-��#��	(&�!	
.��$�	-+)�2+		



�� E�-��#��	(&�!	��	�+�.�	.$$�-�	�.	-��-+$���.����	)�$	#����#��,��+$	
��#.��$	)�	�.	�+��<��3��	��	)�$	�+�+2.�.�$	+�.<��$	?�-$	)�	�+�+2.�"	
��	��0<-�	)�	$+�.���-$	-��-+$���.��	��$	#����#��,��+$	��#.��$	)�	�.	
�+��<��3��	��	����	9�-�	��*+-���-	.�	���-$	)�$	0�0<-�$	)�	�+�.�"	
��$	-��-+$���.��$	$���	+��$	.�	$�**-.2�	���,�-$��	��)�-�#�	).�$	
#?.3��	)+�.-��0���	).�$	��$	#��)�����$	)+��-0��+�$	�.-	���	���	
�-2.��3��"	��$	#��-$	��	�-�<��.�@	,�������	>	�.	-+2��.-��+	)�	�.	
#.0�.2��	+��#��-.��	��	)�	$#-����	���-	��+��#����	)�$	)+����$	��	)�$	
$+�.���-$	).�$	��$	#��)�����$	)+��-0��+�$	�.-	#����	���	�-2.��3��"		

���	�.-���	)�$	$+�.���-$	�$�	��00+�	�.-	��	�-+$�)���	)�	�.	
�+��<��3��	.�-7$	.,�$	)�	�-+$�)���	)�	���$$�0<�+�	�.����.��	��	)�	
�-�0��-	0���$�-�"	��	0.�).�	)�$	$+�.���-$	�$�	)�	#��3	.�$"	���	��	
����	9�-�	+��	��	��00+	$+�.���-	$���	���$�	S2+	)�	3�.-.���	.�$	.�	
0���$	.�	5��-	)�	$#-����	��	)�	�.	��0��.����"	
��@	#��3��70�$	.�	
0���$	)�$	$+�.���-$	$���	)�$	*�00�$	���	���	�-2.��3��	*�@�	��	
��0<-�	)�$	$+�.���-$=	���-$	��)�0���+$=	��$	#��)�����$	)�+��2�<����+=	
��	-+2�0�	)�$	��+��2�<����+$	��	)�$	��#�0�.��<����+$"	F		

�� �-��#��	!&		

��$	.-��#��$	(!	>	((	)�	�.	���$��������	$���	-�0��.#+$	�.-	��$	
)�$��$�����$	$��,.���$		

�� �-��#��	(!	E	��#��	0�0<-�	)�	�.-��0���	��	����	9�-�	���-$��,�=	
-�#?�-#?+=	.--9�+=	)+����	��	5�2+	>	���##.$���	)�$	�������$	��	,���$	
+0�$	�.-	���	).�$	���@�-#�#�	)�	$�$	*��#����$"	��#��	0�0<-�	)�	
�.-��0���	��	����=	���).��	�.	)�-+�	)�$	$�$$���$=	9�-�	���-$��,�	��	
.--9�+X	��	0.��7-�	#-�0������	��	#�--�#���������=	3��.,�#	
��.���-�$.����	)�	��.$$�0<�+�	)���	��	*.��	�.-���"	��	0�0<-�	)�	
�.-��0���	�-�$	���-	#-�0�	��	)+���	*�.2-.��	��	��	*����	.�-7$	�.	
#�00�$$���	)�$	*.��$	����	9�-�	.--9�+=	���-$��,�	��	�0�-�$���+	$.�$	
��.���-�$.����	)�	<�-�.�	)�	��.$$�0<�+�	)���	��	*.��	�.-���"		

��#��	0�0<-�	)�	�.-��0���	��	����=	?�-$	$�$$���=	9�-�	.--9�+	
3��.,�#	��.���-�$.����	)�	<�-�.�	)�	��.$$�0<�+�	)���	��	*.��	�.-���=	
$.�*	��	#.$	)�	#-�0�	��	)+���	*�.2-.��=	���	3��	�-+,�	�.-	��.���+.	
�-+#+)���	��	)�	#��).0�.����	�+�.��	)+*�����,�"	�.	���-$����	)���	
0�0<-�	)�	�.-��0���	��	$.	)+�������	)�	*.��	)�	#����	���-$����	�$�	
$�$���)��	$�	��.$$�0<�+�	)���	��	*.��	�.-���	��	-�3���-�"	��	0�0<-�	
)�	�.-��0���	3��	*.��	���<5��	)����	#��).0�.����	�+�.��	)+*�����,�	
�$�	-.)�+	)�	�.	��$��	)�$	�.-��0���.�-�$	$�-	)�0.�)�	)�	����$�-�	)�	
�.	J�$��#�"	F		

�� �-��#��	(%	��	-72��0���	���+-���-	)�	#?.3��	.$$�0<�+�	)+��-0���		
�� �.	#�0��$�����=	��$	-72��$	)�	*��#������0���	)�	<�-�.�=	
.��$�=	3��	��$	���,��-$	��	�-+-�2.��,�$	)�	$��	�-+$�)���	3��	
�$�	+��	���-	�.	)�-+�	)�	�.	�+2�$�.��-�	8		

�� ��	��0<-�=	��	0�)�	)�	)+$�2�.����=	�.	#�0��$�����=	��	-;��	��	
�.	#�0�+���#�	)�	$�$	#�00�$$���$	��-0.�����$=	$.�$	



�-+5�)�#�	)�	)-���=	���-	��.$$�0<�+�=	)�	#-+�-	)�$	
#�00�$$���$	$�+#�.��$	��0��-.�-�$		

�� ���-2.��$.����	)�$	$�-,�#�$	.)0���$�-.��*$	��.#+$	$��$	
��.���-��+	)�	�-+$�)���	)�	��.$$�0<�+�=	.$$�$�+	)���	$�#-+�.�-�	
2+�+-.�	.)0���$�-.��*	N		

�� ��	-+2�0�	)�$#�����.�-�	)�	$�$	0�0<-�$"		
�� ��$	)�**+-���$	0�)�$	)�	$#-����=	>	���@#��$���	)�	#��@	�-+,�$	
�@�-�$$+0���	�.-	�.	���$��������N		

�� 
����	*.K��	2+�+-.��=	�����$	��$	-72��$	.D.��	���-	�<5��	��	
*��#������0���	)�	��.$$�0<�+�	).�$	��	#.)-�	)�	$.	
#�0�+���#�	#��$�������������"	F		

�� �-��#��	(1	�	���@#������	)�	�.	).��	)���,�-��-�	)�	�.	�-�0�7-�	
$�$$���	)�	���$$�0<�+�	�.����.��	��	)�	�+�.�	���,����0���	+��=	3��	
�$�=	*�@+�	�.-	��	�-+$�)���	)�	�.	�+��<��3��=	���$$�0<�+�	�.����.��	
*�@�=	.�-7$	.,��-	-�#������	��.,�$	)�	�-+$�)���	)�	�+�.�=	�.	).��	
)���,�-��-�	��	�.	)�-+�	)�$	$�$$���$	�-)��.�-�$	)�	�.-��0���"		

�����$�#�	$���	�����*��$	-+2��$	�.-	��$	-72��$	#��.�-7$	A		

��$	.$$�0<�+�$	��������=	#?.3��	.��+�=	)��@	$�$$���$	�-)��.�-�$"	
�.	�-�0�7-�	$���,-�	).�$	��	#��-$	)�	)��@�70�	�-�0�$�-�	)�	
��.��+�=	�.	$�#��)�	$���,-�	�<��2.���-�0���	).�$	�.	�-�0�7-�	
3���R.���	)�	0��$	)��#��<-�	

�.	���	)�	*��.�#�$	)�	��.��+�	�$�	�@.0��+�	.�	#��-$	)�	�.	$�#��)�	
$�$$���	�-)��.�-�"	��	#.$	�L	���	$�$$���	�-)��.�-�	��	
�@�-.�-)��.�-�	�$�	#��$�	$.�$	3��	���$$�0<�+�	�.����.��"	��.��	*�@�	�.	
).��	)���,�-��-�	)�	$.	�-�#?.���	$�$$���	�-)��.�-�=	#�����#�	�$�	*�@+�	
��	��0�$	�����	�.-	��	<�-�.�	)�	���$$�0<�+�	�.����.��=	.�-7$	.,��-	
-�#������	��.,�$	)�	�-+$�)���	)�	�+�.�"		

�.	)�-+�	)�	#?.3��	$�$$���	�-)��.�-�	��	����	�@#+)�-	3�.�-�	0��$"	
��	�.-��0���	�$�=	��	���-�=	-+���	��	$�$$���	�@�-.�-)��.�-�	$�-	��	
�-)-�	)�	5��-	)+��-0��+=	$���	$�-	)�0.�)�	+#-���	)�	���$	)�	�.	
0����+	)�$	)+���+$=	.)-�$$+�	.�	�-+$�)���	)�	���$$�0<�+�	�.����.��	
��	$�-	)+#�$���	)�	�-+$�)���	)�	�.	�+��<��3��=	$���	��	$�-	
�-���$�����	)�	�-�0��-	����$�-�"	�����*��$=	�.	)�-+�	)�	#?.3��	
$�$$���	�@�-.�-)��.�-�	��	����	)+�.$$�-	3���R�	5��-$=	$.�*	).�$	��	
#.$	�-+,�	>	��.-��#��	(6"	��$	$�$$���$	�@�-.�-)��.�-�$	$���	#��$�$	
$��;�	���-)-�	)�	5��-	+���$+"		

�� �-��#��	(4	��	,���	)�$	0�0<-�$	)�	�.-��0���	�$�	��-$�����"	����	
0.�).�	�0�+-.��*	�$�	���"	�.	���	�-2.��3��	����	.���-�$�-=	
�@#�����������0���=	�.	)+�+2.����	)�	,���"	
.�$	#�	#.$=	���	��	����	
-�#�,��-	)+�+2.����	)�	���$	)���	0.�).�"F		

�� �-��#��	(/	���$$�0<�+�	�.����.��	��	��	�+�.�	���,���	)+�+2��-	>	
���-	#�00�$$���	)�$	)+�+2.����$	��	���,��-	)�	�-��)-�	)�$	0�$�-�$	
3��	$���	)�	)�0.���	)�	�.	���"	�����	)+�+2.����	$��**�#���	�.-	���	
-+$�������	)�	��.$$�0<�+�	���+-�$$+�	)���	��	�-+$�)���	)�	�.	
�+��<��3��	�$�	�00+)�.��0���	��*�-0+"	
.�$	��$	��0���$	)�	��0�$	



��	)�	#�0�+���#�	*�@+�$	�.-	�.	-+$�������	�-+,��	#��)�$$�$=	�.	
#�00�$$���	)�$	)+�+2.����$	�-��)	)�$	)+��<+-.����$	3��	$���	
�-�0��2�+�$	#�00�	)�$	���$"	��$	)+��<+-.����$	$���	)+��$+�$	$�-	��	
<�-�.�	)�	���$$�0<�+�	�.����.��"	�.���	)�.,��-	+�+	0�)�*�+�$	�.-	��	
�.-��0���	).�$	��$	3���R�"	5��-$	)�	�.	$�$$���=	����$	)�,�������	
)+*�����,�$"F		

�� �-��#��	((	��$	$+.�#�$	)�	�.-��0���	$���	��<��3��$"	��	?��$	#��$	
���$�	�-����#+	3���@#�����������	0���	��	���-	���	)�-+�	��0��+�"	
��	#�0����-��)�	���+2-.�	)�$	)+<.�$	.��$�	3��	��$	)�#�0���$	
�.-��0���.�-�$	$���	��<��+$	).�$	��	5��-�.�	)�$	)+<.�$	��	.�	
5��-�.�	�**�#���"	F		

�� �-��#��	!!��.-��#��	('	)�	�.	���$��������	�$�	0�)�*�+	.��$�	3����	$���A		
!"� ��	�-�0��-	.���+.	�$�	-�0��.#+	�.-	��$	)�$��$�����$	$��,.���$	\	E	�.	
���	�$�	,��+�	�.-	��	�.-��0���	F		

%"� ��	)��@�70�	.���+.=	$�@�70�	��-��=	.�-7$	)�$	0��$	A	]	���$$�0<�+�	
�.����.��]	$���	��$+-+$	��$	0��$	A]=	)�	�+�.�]		

1"� ��	)�-���-	.���+.=	��$	0��$	A	E	)�	���$$�0<�+�	�.����.��	F	$���	
#�0��+�+$	�.-	��$	0��$	A	E	��	)�	�+�.�	F	

�� �-��#��	!%		
�� ��.-��#��	(6	)�	�.	���$��������	�$�	-�0��.#+	�.-	��$	)�$��$�����$	
$��,.���$		

�� �-��#��	(6	��	�.-��0���	,���	��$	�-�5��$	)�	���$	)�	*��.�#�$	).�$	��$	
#��)�����$	�-+,��$	�.-	���	*��	�-2.��3��"	��	�-�5��	)�	���	)�	
*��.�#�$	)�	��.��+�=	3��	#�0�-��)	���.00���	��	<�)2��=	�$�	)+��$+	
$�-	��	<�-�.�	)�	���$$�0<�+�	�.����.��=	.�	���$	�.-)	��	5��-	)�	
����,�-��-�	)�	�.	$�$$���	*�@+�"	��	�.-��0���	)�$��$�	)�	$��@.���	
5��-$	.�	���$	���-	,���-	��$	�-�5��$	)�	���$	)�	*��.�#�$"	��=	�.-	$����	
)���	#.$	)�	*�-#�	0.5��-�=	��	�-+$�)���	)�	�.	�+��<��3��	��.	��	
)+��$�-	��	�-�5��	)�	���	)�	*��.�#�$	)�	��.��+�	��	��0�$	�����	���-	
3��	��	�.-��0���	)�$��$�=	.,.��	�.	*��	)�	�.	$�$$���	*�@+�=	)�	)+�.�	
�-+,�	>	��.���+.	�-+#+)���=	�.	$�$$���	�$�	�00+)�.��0���	��	)�	�����	
)-���	�-����2+�	5�$3��>	��.)������	)�	�.	���	)�	*��.�#�$"	��	��	�-�5��	
)�	���	)�	*��.�#�$	���$�	�.$	,��+	)+*�����,�0���	>	���@��-.����	)�	
)+�.�	)�	$��@.���	5��-$	�-+,�	#��)�$$�$=	��	�$�	0�$	��	,�2���-	�.-	
)+#-��=	#�0���	����	)�$	.0��)�0���$	,��+$	�.-	���$$�0<�+�	
�.����.��	��	��	�+�.�	��	.##���+$	�.-	��	�-+$�)���	)�	�.	�+��<��3��"		

��	#�0���	����	)�	�.	�-�#+)�-�	�-+,��	#��)�$$�$=	�.	���	)�	*��.�#�$	
)�	�Z.��+�	��.	��	9�-�	0�$�	��	,�2���-	.,.��	��	)+<��	)�	��.��+�	
*��.�#�7-�=	��	�-+$�)���	)�	�.	�+��<��3��	�$�	.���-�$+	>	-�#��)����	
�.-	)+#-��	��$	$�-,�#�$	,��+$"	�.	���-	)�$	��0���$	.$$�$��	��	
�-+$�)���	)�	�.	�+��<��3��=	��	
��,�-��0���	��	��	�.-��0���=	).�$	
��	#���-;��	)�	���@+#�����	)�$	���$	)�	*��.�#�$"	F		

�� �-��#��	!1	��	�$�	.5���+	>	��.-��#��	'!	)�	�.	���$��������	)��@	.���+.$	.��$�	
-+)�2+$	E	�����*��$=	��$	�-�5��$	��	�-���$�����$	)�	���	$���=	.�-7$	���-	
.)������	�.-	���$$�0<�+�	�.����.��=	�-.�$0�$	.�	�+�.�	3��	$�.���	).�$	��	
)+�.�	)�	,��2�	5��-$	>	#�0���-	)�	�.	).��	)�	-+#������"	��	#.$	)��-2��#�	
)+#�.-+�	�.-	��	
��,�-��0���=	#�	)+�.�	�$�	-+)���	>	$���	5��-$"	��	��	�+�.�	
.)����	��	��@��	�)����3��	>	#����	)�	���$$�0<�+�	�.����.��=	�.	���	�$�	



�-.�$0�$�	$.�$	)+�.�	.�	�-+$�)���	)�	�.	�+��<��3��	���-	�-�0��2.����"	��	
#.$	)�	)+$.##�-)	���-�	���$$�0<�+�	�.����.��	��	��	�+�.�=	��	$�	��	�+�.�	��	
$��$�	�.$	�-����#+	).�$	��$	)+�.�$	�-+,�$	.�	)��@�70�	.���+.=	���$$�0<�+�	
�.����.��	$�.���	)+*�����,�0���"	��-7$	$��	.)������=	�.	���	�$�	�-.�$0�$�	
$.�$	)+�.�	.�	�-+$�)���	)�	�.	�+��<��3��	���-	�-�0��2.����"		

�� �-��#��	!4	��	�$�	.5���+	>	��.-��#��	'4	)�	�.	���$��������	��	.���+.	.��$�	
-+)�2+	�.-	��	��0<-�	)�	$+�.���-$	.�	0���$	+2.�	.�	)�@�70�	)�$	0�0<-�$	
)�	�+�.�=	).�$	��$	$�@	5��-$	*-.�#$	3��	$��,���	$��	.)������	)+*�����,�"	F		

�� �-��#��	!/	��$	.-��#��$	''	>	6/	)�	�.	���$��������	$���	-�0��.#+$	�.-	��$	
)�$��$�����$	$��,.���$		

�� �-��#��	''	��	�.-��0���	����	?.<�����-=	�.-	���	���=	��	�-+$�)���	)�	
�.	�+��<��3��	>	�-��)-�	)�$	0�$�-�$	3��	$���	��-0.��0���	)�	
)�0.���	)�	�.	���"	
.�$	��$	��0���$	)�	��0�$	��	)�	#�0�+���#�	*�@+�$	
�.-	�.	���	)�?.<����.����=	��	�-+$�)���	)�	�.	�+��<��3��	�-��)	)�$	
�-)���.�#�$	3��	���-���	��	,�2���-	)7$	���-	��<��#.����	0.�$	
)�,�������	#.)�3��$	$�	��	�-�5��	)�	���	)�	-.��*�#.����	���$�	�.$	
)+��$+	$�-	��	<�-�.�	)�	���$$�0<�+�	�.����.��	.,.��	�.	).��	*�@+�	
�.-	�.	���	)�?.<����.����"	��	�.-��0���	����	��$=	.0��)�-	>	
���##.$���	)�	,���	)�	�.	���	)�	-.��*�#.����"	F		

�� �-��#��	'6	��$	���$	3�.��*�+�$	�-2.��3��$	�.-	�.	#��$��������	$���	
,��+�$	��	0�)�*�+�$	).�$	��$	#��)�����$	�-+,��$	>	��.-��#��	'!"	
�����*��$=	��	��@��	��	����	9�-�	.)���+	�.-	��	�.-��0���	3��>	�.	
0.5�-��+	.<$����	)�	$�$	0�0<-�$"	��$	.-��#��$	(/	��	''	��	$���	�.$	
.����#.<��$	.�@	���$	�-2.��3��$"	F		

�� �-��#��	!8	��	�-+$�)���	)�	�.	�+��<��3��	#�00���3��	.,�#	���$$�0<�+�	
�.����.��	��	��	�+�.�	�.-	)�$	0�$$.2�$	3����	�-����#�	��	3����	*.��	��-�	��	
3��	��	)������	����	S	.�#��	)+<.�"	F		

�� �-��#��	6&	�������.��,�	)�$	���$	.��.-�����	#��#�--�00���	.�	
�-+$�)���	)�	�.	�+��<��3��=	.�	�-�0��-	����$�-�=	.�@	)+���+$	��	
.�@	$+�.���-$"	�.-	)+-�2.����	.�@	)�$��$�����$	)�	��.-��#��	'!=	��$	
�-���$�����$	)�	���$	�����+�$	�.-	��$	$+�.���-$	$���	�@.0��+�$	��	
�-�0��-	����	.�	�+�.�"	����$	$���=	.�-7$	���-	.)������=	�-.�$0�$�$	>	
���$$�0<�+�	�.����.��"	��	���$$�0<�+�	�.����.��	.)����	#�	��@��=	
.�-7$	��.,��-	+,��������0���	0�)�*�+=	��	�$�	�-.�$0�$	$.�$	)+�.�	.�	
�-+$�)���	)�	�.	�+��<��3��	���-	�-�0��2.����"F		

�� �-��#��	6!	��	�-�0��-	����$�-�	��	��$	.��-�$	0�0<-�$	)�	

��,�-��0���	���,���	9�-�	�����)�$	>	����	0�0���	�.-	��$	
.$$�0<�+�$	��	���-$	#�00�$$���$"	��$	���,���	$�	*.�-�	.$$�$��-	�.-	
)�$	#���.<�-.���-$"	F		

�� �-��#��	6%	��	�-+$�)���	)�	�.	�+��<��3��=	��	�-�0��-	����$�-�=	��$	
)+���+$	��	��$	$+�.���-$	���	��	)-���	)�.0��)�0���"	��$	
.0��)�0���$	)�	�-+$�)���	)�	�.	�+��<��3��	$���	�-+$���+$	�.-	!�	
�-�0��-	����$�-�	��	��$	.��-�$	0�0<-�$	)�	
��,�-��0���"	��$	
�-���$�����$	��	.0��)�0���$	*�-0��+$	�.-	��$	)+���+$	��	��$	
$+�.���-$	��	$���	�.$	-�#�,.<��$	��-$3��	���-	.)������	.�-.��	���-	
#��$+3���#�=	$���	���	)�0�������	)�$	-�$$��-#�$	��<��3��$=	$���	�.	
#-+.����"	��	��.22-.,.����	)����	#?.-2�	��<��3��=	>	0���$	3��	#�$	
�-���$�����$	��	.0��)�0���$	��	$�����	.$$�-��$	)�	�-���$�����$	)�	
-�#����$	#�0���$.�-�#�$"	��	��	
��,�-��0���	��	)�0.�)�=	
��.$$�0<�+�	$.�$��	$�	�-����#�	�.-	��	$���	,���	$�-	����	��	�.-���	



)�	��@��	��	)�$#�$$���	��	��	-����.��	3��	��$	.0��)�0���$	
�-���$+$	��	.##���+$	�.-	��	
��,�-��0���"		

�� �-��#��	61	����	.��.-.C�=	.�	#��-$	)�	�.	�-�#+)�-�	�+2�$�.��,�	3�����	
�-���$�����	��	��	.0��)�0���	���$�	�.$	)�	)�0.���	)�	�.	���=	��	
�-�0��-	����$�-�	��	��$	.��-�$	0�0<-�$	)�	
��,�-��0���	���,���	
����$�-	���--�#�,.<����+"	��	#.$	)�	)+$.##�-)=	��	���$���	
#��$�����������=	>	�.	)�0.�)�	)�	�-+$�)���	)�	�.	�+��<��3��=	)�	
���$$�0<�+�	�.����.��=	)�	�+�.�	��	)�	�-�0��-	����$�-�=	$�.���	
).�$	��$	?���	5��-$"		

�� E	�-��#��	64	����$#-������=	�.-	�-��-��+=	>	���-)-�	)�	5��-	)�	
���$$�0<�+�	�.����.��	��	)�	�+�.�	)���	�-�5��	��	)����	�-���$�����	
)�	���	��	)����	)+#�.-.����	)�	������3��	2+�+-.��=	�$�	)�	)-���	$�	��	
�-+$�)���	)�	�.	�+��<��3��	��	��	�-�0��-	����$�-�	��	*.��	�.	
)�0.�)�"		

�� E	�-��#��	6/	��$	)+���+$	��	��$	$+�.���-$	���,���	��$�-	.�	�-�0��-	
����$�-�	��	.�@	.��-�$	0�0<-�$	)�	
��,�-��0���	3��	$���	����$	
)�D	-+���)-�=	)�$	3��$����$	+#-���$	��	)�$	3��$����$	�-.��$	.,�#	��	
$.�$	Z)+<.�"	��$	3��$����$	��	��$	-+���$�$	3��	���-	$���	*.���$	��	
$���	�.$	$��,��$	)�	,���"	���$$�0<�+�	�.����.��	��	��	�+�.�	���,���	
)+$�2��-=	��	���-	$���=	)�$	#�00�$$���$	)���3�9��"	�.	���	)+��-0���	
��$	#��)�����$	)��-2.��$.����	��	)�	*��#������0���	.��$�	3��	��$	
���,��-$	)�$	#�00�$$���$	)���3�9��"	F		

�� �-��#��	!(	��$	.-��#��$	!&&	��	!&!	)�	�.	���$��������	$���	-�0��.#+$	�.-	��$	
)�$��$�����$	$��,.���$		

�� �-��#��	!&&	�.	I.���	���-	)�	J�$��#�	�$�	#�0��$+�	)�	0�0<-�$	
+��$=	��	��0<-�	+2.�=	�.-	���$$�0<�+�	�.����.��	��	��	�+�.�	.�-7$	
#?.3��	-����,����0���	)�	#�$	.$$�0<�+�$"	����	�$�	�-+$�)+�	�.-	��	
0.2�$�-.�"	���-2.��$.����	)�	�.	I.���	���-	)�	J�$��#�	��	�.	
�-�#+)�-�	$��,��	)�,.��	����	$���	)+��-0��+�$	�.-	���	���	
�-2.��3��"	F		

�� �-��#��	!&!	��	�-+$�)���	)�	�.	�+��<��3��	���$�	-�$���$.<��	)�$	
.#��$	.##�0���$	).�$	���@�-#�#�	)�	$�$	*��#����$	3����	#.$	)�	?.���	
�-.?�$��"	��	��	����	9�-�	0�$	��	.##�$.����	3��	�.-	��$	)��@	
.$$�0<�+�$=	$�.��.��	�.-	��	�,���	�)����3��	.�	$#-����	$�#-��=	>	�.	
0.5�-��+	)�$	�-��$	#��3��70�$	)�$	0�0<-�$	��$	#�0��$.��	N	��	�$�	
5�2+	�.-	�.	I.���	���-	)�	J�$��#�"		

��	�-�0��-	����$�-�	��	��$	.��-�$	0�0<-�$	)�	
��,�-��0���	$���	
�+�.��0���	-�$���$.<��$	)�$	.#��$	.##�0���$	).�$	���@�-#�#�	)�	
���-$	*��#����$	��	3�.��*�+$	#-�0�$	��	)+���$	.�	0�0���	�L	��$	���	+�+	
#�00�$"	��$	$���	5�2+$	�.-	�.	I.���	"���-	)�	J�$��#�"	�.	�-�#+)�-�	
)+*����	#��)�$$�$	���-	�$�	.����#.<��=	.��$�	3��>	���-$	#�0���#�$=	
).�$	��	#.$	)�	#�0����	#���-�	�.	$B-��+	)�	����.�"	
.�$	��$	#.$	
�-+,�$	.�	�-+$���	.���+.=	�.	I.���	���-	�$�	��+�	�.-	�.	)+*�������	
)�$	#-�0�$	��	)+���$	.��$�	3��	�.-	�.	)+��-0��.����	)�$	�����$=	�����$	
3������$	-+$������	)�$	���$	�+�.��$	��	,�2���-	.�	0�0���	�L	��$	*.��$	
���	+�+	#�00�$"	F		

�� �-��#��	!'	��$	#��3	�-�0��-$	.���+.$	)�	��.-��#��	!��(	)�	�.	���$��������	
$���	-�0��.#+$	�.-	��$	)�$��$�����$	$��,.���$	A	E	�������.��,�	)�	�.	-+,�$���	



)�	�.	���$��������	.��.-�����	#��#�--�00���	.�	�-+$�)���	)�	�.	
�+��<��3��	��	.�@	)+���+$"	��	�-�0��-	����$�-�	����	�-���$�-	.�	
�-+$�)���	)�	�.	�+��<��3��	���	-+,�$���	)�	�.	���$��������"	��	�-�5��	��	�.	
�-���$�����	)�	-+,�$���	)�	�.	���$��������	�$��	.)���+	�.-	��$	.$$�0<�+�$	
$����	�.	�-�#+)�-�	)�	��.-��#��	'!"	�.	-+,�$���	�$�	)+*�����,�	.�-7$	.,��-	+�+	
.��-��,+�	�.-	-+*+-��)�0"	�����*��$=	��	�-�5��	��	�.	�-���$�����	���$�	�.$	
�-+$���+	.�	-+*+-��)�0	��-$3��	��	�-+$�)���	)�	�.	�+��<��3��	)+#�)�	)�	��	
$��0���-�	.�	�.-��0���	#��,�3�+	��	���2-7$"	
.�$	#�	#.$=	��	�-�5��	��	�.	
�-���$�����	���$�	.��-��,+	3��	$���	-+����	�.	0.5�-��+	)�$	�-��$	#��3��70�$	
�1U/�	)�$	$�**-.2�$	�@�-�0+$"	F		

�� �-��#��	!6	
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�	����$�.-	)�	��0<-��@	�.D$	)+0�#-.��3��$=	��	�+�.�	>	���	#�0��$�����	
?+�+-�27��	#�0�-��.��	#�-�.��$	0�0<-�$	+��$	.�	��,�.�	)�$	)+�.-��0���$	��	
)�.��-�$	��00+$	�.-	��	�-+$�)���	)�	�.	�+��<��3��=	�.-0�	��$3���$	)�$	
-��-+$���.��$	)�$	$+�+2.�.�$	)�	���@�+-���-"		

��$	.��-�$	#?.���-�$	$���	-��.��*$	.�@	#��)�����$	)�+��2�<����+	��	)���+��2�<����+=	.�@	
��#�0�.��<����+$=	.�@	)+#�.-.����$	)�	#.�)�).��-�=	>	�.	#.0�.2��	+��#��-.��=	.�@	
��+-.����$	+��#��-.��$	��	.�@	-�#��$�0���$	)�$	,���$=	.�	#���������@	��	��*��	.�@	
)�$��$�����$	�+�.��$"	�.	�-+$����	���	�-2.��3��	0�)�*��	+2.��0���	)�$	���$	)�	
090�	�.��-�	)���	��+#���0��	�$�	.**�#�+�	�.-	�.	#-+.����	)�	�+�.�"	���$�	�$����	
����-���=	).�$	��	$��#�	)�?.-0���$.����	.,�#	��$	-72��$	-+2�$$.��	#�-�.���$	
��$��������$	)�	�.	�+��<��3��=	)�	0�)�*��-	��$	)�$��$�����$	$��,.���$A		

���	�-�	%&&1�14	)�	&1	$����0<-�	%&&1=	��	#�	3��	��	0.�).�	)�	$+�.���-	�$�	
��#�0�.��<��	.,�#	�.	3�.���+	)�	)+���+	��	)�	0�0<-�	)�	���$���	)�	�.	
�+��<��3��	���-	��$	�**.�-�$	�#���0�3��$	��	��#�.�	N	���	��	88�'!	)�	!'	*+,-��-	
!888=	��	#�	3��	��	���$���	���$�����������	$�-.	#?.-2+	)�	#���.C�-�	)�	
#���������@	)�	��+��#����	)�$	$+�.���-$	N		

���$	�c	%&&%�!&	)�	%'	*+,-��-	%&&%	��	��	%&&/�&'	)�	!!	0.�	%&&/=	��	#�	3��	N	
��$)��$	��@��$	-+2�$$.��	-�$��#��,�0���	�.	I.���	���-	)�	J�$��#�	��	�.	��00�$$���	
���#��-.��	�.����.��	������0�	)��,���	����-	#�0���	)�	�.	#-+.����	)�	�+�.�"		

�����	�$�	��+#���0��	)�	�.	�-+$����	���	�-2.��3��"		

�� �-��#��	�-�0��-	��	�$�	��$+-+=	.�-7$	��.-��#��	�"�"	!66	)�	��)�	+��#��-.�=	��	
���-�	���	<�$	.��$�	-+)�2+	
E	�����	���	���	
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�� ��"	!66�!	��	��0<-�	)�	$+�.���-$	�$�	*�@+	>	#���	.��$�	-+�.-��$	A	
�-����	#��3	$+�.���-$	+��$	).�$	��$	)+�.-��0���$	
���@.����#��3	$+�.���-$	��00+$	�.-	��	�-+$�)���	)�	�.	�+��<��3��	
�.-0�	��$3���$	3�.�-�	-��-+$������	��$	�+�+2.�.�$	)�	���@�+-���-"	

�� ��"	!6��%	
.�$	#?.3��	)+�.-��0���	�$�	+��	��	$+�.���-	.�	$#-����	
�����0��.�	0.5�-��.�-�	>	��	���-	$�-	���	��$��	#�0�-��.��	��	
�����.�-�	��	��	$����+.��"		

�� ��"	!66�1	��$	$+�.���-$	$���	+��$	).�$	#?.3��	)+�.-��0���	�.-	��	
#���72�	+��#��-.�	#�0��$+	A		
!"� 
�$	)+���+$=		
%"� 
�$	#��$�����-$	-+2���.�@=		



1"� 
�$	#��$�����-$	0���#��.�@	��	)�$	#��$�����-$	-�-.�@"		

��	�$�	#-++	���	��$��	+��#��-.��	�.-	)+�.-��0���=	).�$	��$	#��)�����$	
�-+,��$	>	��.-��#��	��"	!6��%�"�"	!66�%'"		

�� ��"	!6��%��	!66�4"	��$	0�0<-�$	)�	#���72�	+��#��-.�	)���=	
��+��#����	.	+�+=	"�-�#�.0+�	$���	��$#-��$	$�-	��$	��$��$	)�$	+��#���-$	
$+�.��-�.�@	��	�-������	�.-�	.�	,���	090�	$�	���-	+��#����	�$�	
#����$�+�"		

�� ��"	!6��%��"	!66�/	��	$+�.���-	+��	)���	��	$�72�	)�,����	,.#.��	�$�	
-�0��.#+	�.-	$��	$����+.��"		

��	��$	)�$��$�����$	)�	�-+#+)���	.���+.	��	���,���	�.$	9�-�	
.����3�+�$=	��	�$�	�-�#+)+	>	���	+��#����	�.-������	).�$	��	)+�.�	)�	
�-��$	0��$"	��	���$�	�����*��$	�.$	�-�#+)+	>	)�$	+��#����$	�.-������$	
).�$	��$	)��R�	0��$	3��	�-+#7)���	���@��-.����	)�$	���,��-$	)�	
�+�.�"		

�� ��"	!66�(	��$	���,��-$	)�	�+�.�	�@��-���	>	����,�-��-�	)�	�.	
�-�0�7-�	$�$$���	�-)��.�-�	3��	$���	�.	#��3��70�	.��+�	)�	$��	
+��#����"		

�� ��"	!66�'	��$	+��#����$	)�$	$+�.���-$	���	����	).�$	��$	$��@.���	
5��-$	3��	�-+#7)���	���@��-.����	)�$	���,��-$	)�	�+�.�"		
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�� ��"	!66�6		

���	��	����	$�+2�-	.�	�+�.�	$���	���$�	S2+	)�	3�.-.���	.�$	.�	0���$	
.�	5��-	)�	$#-����"	��$	.��-�$	#��)�����$	)�+��2�<����+	��	��$	
��+��2�<����+$	$���	��$	090�$	3��	#����$	�-+,��$	���-	��+��#����	)�$	
)+���+$	.�@	.-��#��$	�"&"!/&	>	�"�"	!/1	)�	�-+$���	#�)�"		

	

�I�������	���	�	�����������������		

�� ��"	!66�8"	�	��	0.�).�	)�	$+�.���-	�$�	��#�0�.��<��	.,�#	�.	3�.���+	
)�	)+���+	��	#����	)�	0�0<-�	)�	���$���	)�	�.	�+��<��3��	���-	��$	
.**.�-�$	+#���0�3��$	��	$�#�.��$"	��$	.��-�$	��#�0�.��<����+$	$���	
��$	090�$	3��	#����$	�-+,��$	���-	��$	)+���+$	.�@	.-��#��$	�"&"!(8	>	
�=�=	!((	)�	�-+$���	#�)�"		

	

�I������	�:"	�	
����������	
�	���
�
�����		



�� ��"	!66�!&	�?.3��	#.�)�).�	�$�	����	)�	*.�-�	���	)+#�.-.����	)�	
#.�)�).��-�	-�,9���	)�	$.	$�2�.��-�	+���K.��	$�$	��0=	�-+��0$=	
).��	��	����	)�	�.�$$.�#�=	)�0�#���	��	�-�*�$$���"	��	�$�	0�������+	
).�$	�.	)+#�.-.����	)�	#.�)�).��-�	��$	��0=	�-+��0$=	).��	��	����	
)�	�.�$$.�#�=	)�0�#���	��	�-�*�$$���	)�	�.	��-$����	.����+�	>	��	
-�0��.#�-	#�00�	$+�.���-	).�$	��	#.$	�-+,�	>	��.-��#��		

�� �"�"	!66�/	��	D	�$�	5����	��.##���.����	+#-���	)�	$����+.��=	��3���	
)���	-�0���-	��$	#��)�����$	)�+��2�<����+	�@�2+�$	)�$	#.�)�).�$"	
���	��	����	9�-�	#.�)�).�	).�$	���$���-$	)+�.-��0���$"	
���	��	����	9�-�	>	�.	*��$	#.�)�).�	��	$����+.��	)���	.��-�	#.�)�).�"		

�� ��"!66�!!	��$	)+#�.-.����$	)�	#.�)�).��-�	)��,���	9�-�	
.##�0�.2�+�$	���-	#?.3��	#.�)�).�	��	���-	#?.3��	$����+.��	)�$	
��7#�$	$��,.���$	A		
&"� ��	�@�-.��	)�.#��	)�	�.�$$.�#�	).�.��	)�	0���$	)�	$�@	0��$	��	
�.	�?���#����	�+2.��$+�	)�	�.	#.-��	�.����.��	)��)�����+		

!"� ��	<�������	��1	)�	#.$��-	5�)�#�.-�	).�.��	)�	0���$	)�	�-��$	
0��$=		

%"� ���	)+#�.-.����	�.-	�.3�����	�����+-�$$+	#�-��*��	3����	��$�	$.	
#.�)�).��-�=	3����	���$�	#.�)�).�	3��	$�-	#����	��$��	��	3����	
��	$�	�-��,�	).�$	.�#��	)�$	#.$	)���+��2�<����+	�-+,�$	�.-	��	
�-+$���	#�)�"		

�� ��"	!66�!/	����	.��.-.C�	3�����	)+#�.-.����	)�	#.�)�).��-�	.	+�+	
)+��$+�	��	*.,��-	)����	��-$����	��+��2�<��=	��	����$�-�	)�	
�����+-���-	$.�$��=	).�$	��$	�-��$	5��-$	�$��,.��	��	)+�;�	)�	�.	
#.�)�).��-�=	��	���$���	#��$�����������	3��	$�.���	).�$	��$	�-��$	
5��-$	)�	�.	$.�$���	$�-	�.	-�#�,.<����+	)�	�.)���	#.�)�).��-�"	��	��$	
)+�.�$	0�������+$	>	��.���+.	�-+#+)���	��	$���	�.$	-�$��#�+$=	�.	
#.�)�).��-�	)���	9�-�	-�K��"		

�� ��"	!66�!(	��	���$	�.-)	�-����	5��-$	.,.��	��	$#-����=	��	����$�-�	
)�	�����+-���-	.--9��	��	��<���	��$	)+#�.-.����$	-�K��$=	0�)�*�+�$	
+,��������0���=	#�0���	����	)�$	)�$��$�����$	)�	��.-��#��	�"�"	!66�
!/"		

�� ��"	!66�!'	��	#.$	)�	#����$�.����	)���	.#��	)�	����$�-�	)�	
�����+-���-	*.��	��	.����#.����	)�$	.-��#��$	�"	!66�!%=	�"	!66�!4	��	�"	
!66�!(=	��$	#.�)�).�$	���,���=	).�$	��$	,��2��3�.�-�	?��-�$	$��,.��	
�.	����*�#.����	)�	�.	)+#�$���	��	$.	��<��#.����=	$�	���-,��-	)�,.��	
��	���$���	#��$�����������=	3��	$�.���	).�$	��$	�-��$	5��-$	3��	$��,���	
#����	)�	����-�2�$�-�0���	)�	�.	-�3�9��"		

�� ��"	!66�!6	��-7$	�.	).��	��0���	)�	)+�;�	)�$	#.�)�).��-�$=	.�#���	
$�<$��������	��	.�#��	-��-.��	)�	#.�)�).��-�	���$�	.)0�$"	�����*��$=	
���-�	#����	090�	).��	��	�.	,�����	)�	$#-����	>	R+-�	?��-�=	��	#.$	)�	
)+#7$	��	)���+��2�<����+	)���	#.�)�).�=	$��	$����+.��	)�,����	
#.�)�).�	��	����	)+$�2��-	��	���,�.�	-�0��.K.��"	��-$3����	
$����+.��	)+#7)�	���).��	�.	090�	�+-��)�=	��	#.�)�).�	����	
)+$�2��-	��	���,�.�	$����+.��		
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��	����������		



�� ��"	!66�!8	�.	#.0�.2��	��	,��	)�	��+��#����	)�$	$+�.���-$	�$�	
��,�-��	,��2�	��	��	5��-$	.,.��	�.	).��	)�	$#-����"	����	�-��)	*��	�.	
,�����	)�$	+��#����$	>	R+-�	?��-�"		

�� ��"	!66�%&	
�$	-+�����$	+��#��-.��$	���-	��+��#����=	)�$	$+�.���-$	
���,���	9�-�	�����$=	#��*�-0+0���	.�@	)�$��$�����$	)�	��.-��#��	�"	
/(	)�	�-+$���	#�)�=	>	�.-��-	)�	�."��<��#.����	)�	)+#-��	)�	
#��,�#.����	)�$	+��#���-$"		

�� ��"	!66�%!	#?.3��	#.�)�).�	����	*.�-�	�0�-�0�-	��	.)-�$$�-	.�@	
0�0<-�$	)�	#���72�	+��#��-.�	���	#�-#��.�-�	)�	�-��.2.�)�	)���	��	
*�-0.�	�$�	�-+#�$+	�.-	)+#-��	�����	#�-#��.�-�	�$�	$��0�$�	>	�.	
*�-0.���+	)�	)+�;�	�+2.�=		

�� ��"	%66�%%	���	.-��#��$	�"	/6	��	�"	/8	$���	.����#.<��$	>	��+��#����	
)�$	$+�.���-$"	�?.���-�	:�"	�	��+-.����$	+��#��-.��$	��	-�#��$�0���	
)�$	,���$"		

�� ��"	!66�%1	��$	+��#���-$	$���	#��,�3�+$	�.-	)+#-��	��<��+	.�	
0���$	$��@.����)�@	J��-$	.,.��	�.	).��	)�	$#-����"		

�� ��"	!66�%4	��	$#-����	��	)�-�	3�Z��	$���	5��-"	��	.	����	��	
)�0.�#?�	��	��	5��-	*+-�+"	��	)+#-��	)�	#��,�#.����	)�$	+��#���-$	
�-+#�$�	��?��-�	)���,�-��-�	��	)�	*�-0���-�	)�	$#-����"		

�� ��"	!66�%6	�.�$	�-+5�)�#�	)�$	#�0�+���#�$	)+,����$	.�@	
5�-�)�#����$=	��	$#-����	.	����	$��$	�.	$���-,�$���	��	��	#���-;��	)�	�.	
��00�$$���	���#��-.��	�.����.��	������0�	������		

�.	����	,+-�*��	�.	-+2��.-��+	)�	�.	#�0��$�����	)�$	<�-�.�@	)�	
,���	.��$�	3��	#����	)�$	��+-.����$	)�	,���=	)�	)+�������0���	)�$	
<�������$	��	)�	)+��0<-�0���	)�$	$�**-.2�$"	�.	����	2.-.����	.�@	
+��#���-$	.��$�	3��.�@	��$��$	)�	#.�)�).�$	��	�-+$��#�	��	��<-�	
�@�-#�#�	)�	���-$	)-���$"		

�� ��"	!66�%(	��	,���	�	����	).�$	�.	#�00���	#?�*�����	)�	#?.3��	
)+�.-��0���=	$.�*	�.$	�.-��#����-$	>	-+2��-	�.-	)+#-��"		

�� ��"	!66�%'	��.-.���	#��3	5��-$	.�	���$	�.-)	.,.��	��+��#����	)�$	
$+�.���-$=	��	2��,�-���-=	$��$	�.	$���-,�$���	��	��	#���-;��	)�	�.	
����=	)-�$$�	�.-	�-)-�	.��?.<+��3��	���	��$��	)�$	+��#���-$	���-	
#?.3��	)+�.-��0���	)�	�.	-+2���"	�����	��$��	#�0�-��)	��$	
0�0<-�$	)�	#���72�	+��#��-.�"	��$	��$��$	+��#��-.��$	$���	
#�00���3�+�$	��	��<��+�$	).�$	��$	#��)�����$	*�@+�$	�.-	)+#-��"		

��$	+��#���-$	��$#-��$	��	�0�$	)�	�.	��$��	+��#��-.��	���,���=	).�$	��$	
#��3	5��-$	$��,.��$�	�.	��<��#.����	)�	�.	��$��=	�@�-#�-	��	-�#��-$	
)�,.��	��	�-+$�)���	)�	�-�<��.�	)+�.-��0���.�=	).�$	��$	#��)�����$	
�-+,��$	�.-	��$	.-��#��$	�"4%	��	�"41	)�	�-+$���	#�)�"	
��.)0���$�-.����	�$�	#?.-2+�	)�	���0�-�$$���	)�	#.-��$	)Z+��#���-	
)���	0�)7��	$�+#�.�	.�@	*-.�$	)�	����.�"	���-�	��	��0+-�	
)���$#-������	)�	��+��#���-	��	����)�#.����	)�	����	��	)�	<�-�.�	)�	
,���=	�����$	��$	0������$	*�2�-.��	$�-	�.	��$��	+��#��-.��	)���	9�-�	
-���-�+�$	$�-	�.	#.-��	)�+��#���-"	�.	#.-��	�$�	.)-�$$+�	>	#?.3��	
+��#���-	�.-	��.���-��+	.)0���$�-.��,�	.�	���$	�.-)	,��2�	5��-$	.,.��	
�.	).��	)�	$#-����=	$����	)�$	0�).���+$	*�@+�$	�.-	)+#-��"		



�� ��"	!66�%6	��	�$�	��$����+	��	<�-�.�	)�	,���	�.-	)+�.-��0���=	>	�.	
#�00���	#?�*	����=	$.�*	#.$	�.-��#����-$	>	-+2��-	�.-	)+#-��"		

��	<�-�.�	)�	,���	�$�	#�0��$+	)�	�-+$�)���	)�	�-�<��.�	
)+�.-��0���.�=	�-+$�)���=	)���	.$$�$$��-	��	)���	$�#-+�.�-�	
)+$�2�+$	�.-	��	2��,�-���-	�.-0�	��$	*��#�����.�-�$	)�	�.	
?�+-.-#?��	�	��	�	��	.#��,��+	��	>	�.	-��-.���	-+$�).��	).�$	�.	
-+2���=	��	)���	-��-+$���.��	��$#-��	$�-	�.	��$��	+��#��-.��	)�	
)+�.-��0���	�.-	#.�)�).�=	��	3�.���+	)�	0�0<-�$"	
�	��	#.$	)��0�9#?�0���	)�	�-+$�)���	)�	�-�<��.�	)+�.-��0���.�=	��	
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